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INTRODUCTION

=I rTAmbra, Ben|to Garozzo has solved the dTI ema on What to open W|th 16 HCP and a5(:ard mq or |n a baI a10ed hand
Many partnerships open INT nowadays with 5M-3-3-2 distribution, but in Ambra we open 14/% and we can control the
bidding with the many relays available.

Outlay of the system is basicdly Dutch Doubleton, 2-over-1 (2/1) system:
1%: 2+ card, 10-22 HCP

1e: 4+ card, 10-22 HCP

1we:; 5+ card, 10-21 HCP

IN: 15-17, balanced, 5card minor possible

2#: 20+, GF without 5card major

2¢:.  a) weak 2v
b) GF with 5+ card v
2v: Q) weak 24

b) GF with 5+ card
2N: 21-22, balanced, 5card major possible
3N: gambling

Ambraalso solves the well known 2/1 dilema: is2/1 GF or GF unless responder rebids his suit. In Ambraa2/1 (e.g.
1v-2#) is GF unless responder rebids his suit. Y ou might ask "how should responder bid with a GF hand and along #
suit?". Initialy responder bids 2# and on his second round he has many relays available to force the auction.

In Ambrapractically all 2%, 2¢ and 2NT bids have artificial meanings. In practice these 3 contracts are very unpopul ar
as end contracts, so we might as well use them for relays etc.

But the main "selling point" for Ambraisit's lam bidding. Very often a Slam Invite (Sl) can be established at avery
low level. Slam bidding specifically is an area where the Italian top players excell and the Dutch top players have been
critised.

18 opening

With two or three 4card suits, thelowest suit is opened.

Over 1& we play the Walsh convention: responder bids a 4card mgor bypassing a 4+ ¢ suit and 5-9 HCP. With 10+
HCP a4+card ¢ suitisbid first.

The INT response is weaker than in most agreements: 5-10 HCP with 4/5 & or 4/5 ¢ (with 6 ¢ the responseis 1¢).
2% isinverted minor: 4+# and 11+ HCP.

2¢v aresimilar to the 2¢¥ opening: transfer and either weak (2-7) or strong (12+).

24 shows 5&, 2NT shows 6& and 2-6 HCP, 3% also shows 6 but stronger: 8-10 HCP.

3¢ is preemptive: 7+, 3-8 HCP. 3v4 are splinters with 5-4 in the minors, GF.

3NT is natural: 12-14 HCP and 3-3-3-4 distribution.

Let uslook a the devel opment after 1d-16:
Opener'srebid is all naturd with the exception of the cheapest reverse bid: 2% in this case. 2% has 3 possible meanings:
a) b5+&-4v 17+ HCP, anormal reverse
b) 6+& and 17+ HCP
c) 5+&-4e, 17+ HCP, adrong ¢ raise
This principl e of giving multiple meaning to the lowest strong bid occurs frequently in Ambra. It has the advantage of
keeping other bids very simple and with relays responder has plenty of room to find out which hand opener has.
That means that the rebid of 3%+ can be weker now: 13-16 HCP and 6# or 44 support respectively.
Double jumps by opener are splinters, showing 4-4-4-1 distribution and 18-22 HCP (3NT is singleton +).
1%-1¢, 2¥-24 is a GF relay, opener rebids natural in the context of the bidding thusfar:
2N: 5+-4v (32=GAR, see below)
36 Ot
3¢: 5&-4e
3v: 6&-5v
3a: Sa-4v-44

GAR isaconvention used widely in the system. Whenever opener or responder shows a 5-4 distribution, 2NT isrelay
asking clarification. Responses are: 3% shows 5-4, 3¢ shows 6-4. In case 5-5 and 5-4-4 distributions are still possible



too: 3% shows 5-5 and high singleton, 34 shows 5-5 and low singleton and 3NT shows 5-4-4. After the responses of 3%
and 3¢, partner can bid:

1% step: afurther general relay

2" step: fixes the higher suit, relay
The responses to these relays are: 1% step: 2-2 in remaining suits, 2™ step: high singleton, 3" step: low singl eton.
After the sequence above: 1%-1¢, 29-24, 2N GAR cannot be invoked with 2N, so we must use 3% and all subsequent
bidding is 1 step higher.

When opener has not limited his hand yet, the GAR convention works a bit different:
3&:5-4,11-15
3¢: 6-4,11-21
3v: 5-4-2-2,16-21
3a: 5-4, high singleton, 16-21
3N: 5-4, low singleton, 16-21
After the 3¢ response, 3v isafurther relay:
34: min, high sin
3N: min, low sin
4% max, high sin
4¢: max, low sin
Keep in mind that the 2NT bidder is atempting game, opposite a minimum a partscoreis still possible. | am not sure
what 'GAR' means, possibly something Italian, but it would be a suitable abbreviation for 'Game Attempt Relay'.

Transfers are used after a2NT rebid by opener. Let us say the bidding started 1%-1%, 2N promissing 18-20 HCP and
forcing. The bid bel ow responder's suit is now transfer: 3¢. Opener must bid 3¥ and reponder continues natural: passing
with 5% and 4-5 HCP. Other bids by responder are SI. When opener's suit is not , thereis room for transfers to both
our suits:
1e-1v, 2N-3&: transfer to ¢

-3¢: transfer to ¥

Ambraalso uses an extended Checkback convention after a INT rebid by opener. Let's say the auction started 1%-1v,
IN. Responder's 2% is now a puppet to 2¢ and used for hands with weak ¢ or any gameinvite. 2¢ over 1N isarelay
with any GF hand. That results in the following response structure after 1&-1%, 1N:

2% puppet to 2¢

2¢: Checkback, GF

2v: 5+v, 7-10 HCP

24: 4v-44,10-12 HCP

2N: puppet to 3%, see below

38¢: 5+ suit, Gl

3v: good 6+ card, GF

34: 6v-54, GF

3N: to play

4% Gerber

Bidding after the 2# puppet is natural: reponder passes with weak ¢ and other bids are Gl.

Over the GF Checkback, opener isrequired to show: a4card on the other major, 3card support for responder's major,
rebid a6card suit, show a5-4 hand or bid 2NT, in this order.

This puppet and Checkback is aso used after 14-1¢, 1N and 1v-14, 1N.

After opener rebids on the 1-level, 2% by responder isarelay, thisis known in the USA as the x-y-z convention. For
detail s, see the 2&Rday discussion later. A beautiful slam example from a practice game follows here:



AXXX Kxx

AJ KQxx

OXXX AKQx

A10x XX

le lv

1a 281, Gl+
2¥:min,NO ¥ supp 2ar, S|

2nt 3¢:agrees ¢

3v.q 34:q

3nt 4e:turbo, 2 keycards
6¢:good controls pas

Support structure.

Asis common nowadays, over a1¥/4 opening, responder has many ways for raising partner. Let us say partner opened
1v:

With 3 card support or a4card and bad (=4-3-3-3) distribution:

- 3-7HCP: bid 2¢ firgt, artificial (can also be GF with ¢ suit) and pass if opener rebids 2v
- 8-9HCP: raiseto 2v

- 10-11 HCP: bid 3#, artificial

- 12+ HCP: bid your own suit first and support ¥ later

With a4 or 5card card support:

- 0-5HCP: preempt with 3¥ (4card) or 4% (5card)

- 6-9 HCP: bid 3¢, artificia

- 10-13 HCPwith asingleton: bid 3e, artificial, with asingleton in any suit
- 10-11 HCP no singleton: bid 3%

- 12-13 HCP no singleton: 2N, artificial GF

- 12+ HCPwith any singleton: 2N

- 12-15 HCP and avoid: splinter with 3NT (4 void), 4% or 4¢

The 2N responseis an artificia GF with 4card support and opener rebids 3¢ with any minimum. With a non-minimum
opener can show adistributional hand with 4+card suit on the 3 level:

3¥: 4+&, 6-4 or 5-5

34: 4+¢,6-4 0r 5-5

3N: 4+, 6-4 or 5-5
or opener can show avoid by bidding that suit on the 4level (4¥ shows 4 void).
Lacking extradistribution and avoid, e.g. 5-3-3-2, 5-4-3-1, 6-3-2-2, 6-3-3-1 distributions, opener must rebid 3%
showing a non-minimum.

1v 10-22 5+card

1v-2N 12+ 4card support

1v-2N-3% 14+ non-mini mum, no void, no side suit
1v-2N-3¢ 10-13 any minimum

1v-2N-3v 14+ 44+%, 6-4 or 5-5

1v-2N-34 14+ 4+e

1v-2N-3N 14+ 4+a

1v-2N-4& 14+ & void

1v-2N-4¢ 14+ + void

1v-2N-4v 14+ & void

(Note that Garozzo does not use high shortage first here, unfortunately.)

After 19-2N, 3% responder has 2 relays available: 3¢ asks for asingleton with SI, while 3¥ shows responder thinks
gameisthelimit with hishand, i.e about 12-16 HCP. When opener thinks lamis still possible, he can ask for
responder's singleton with arelay of 3a:
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lv 10-22 5+card

1v-2N 12+ 4card support

1v-2N-3# 14+ no void or side suit

1v-2N-3%-3v 12-15 "l don't think it is Slam”

1v-2N-3%-3v-34 "but | think it is, show me your singleton?"
1v-2N-3%-3v-34-3N no singleton

19-2N-3%-3v-34-4& singleton & (high shortage first!)
19-2N-3%-3v-34-4¢ singleton ¢

19-2N-3%-3v-34-4v singleton &

Note that when game seems to be the maxi mum achievable, no singletons are shown! Thisis aclever way to concea
the hands for the defenders. After 1-2N, 3&/¢ responder can aso introduce his own 5+ card suit. So to summarise:
with 3card support and a 5card suit, responder first bids hissuit and with 4card support and a 5card suit, reponder first
bids 2NT.

After 19-2N, 3%-3¢, (Sl relay) opener shows his singleton in the same way: 3¥ shows no singleton and asks responder
inturn to show his singleton. | am sure you can work out the answers by now (remember: high shortage first).

Gametries

Ambrahas a clever way of using gametries. Say the auction starts: 1¥-2¥. Opener now hids 24 saying: "show me your
cheapest suit in which you would have accepted a help suit game try?'. Responder then bids a suit in which he has
honour strength or he declines with 3¥ with an absolute minimum. An example:

K Qx X X

A QXXX K x x
X K Jx X
A XXX JIX XX
1v 2y

24 3¢

3v p

3¢ is not what opener wanted to hear and he signs off in 3v. With the minors reversed, opener would bid the excellent ¥
game.

The wholeidea of this general gametry is of courseto conceal declarer's hand. Note that responder would have bid 2N
with & honours.

Opener can aso show his hand with a short suit game try:

lv 10-22 5+card

1v-2v 8-10 3card support or 3433
1v-2v-24 show me an accept suit
1v-2v-2N singleton &

1v-2v-3& singleton # (again no high-shortage-first here)
1v-2v-3¢ singleton ¢

1v-2v-3v asking for trump quality
1v-29-34 6¥-5¢, Sl

1v-2v-3N natural, choice of games
1v-29-4% 5%, S|

1v-2v-4¢ 5¢, S|

2-over-1 bidding

Animportant principle in Ambra 2/1 bidding isthat opener shows a minimum with or without 4card in the other major.
1v-2%, 2¢ shows 11-15 without a4card # and 1¥-2&, 2% shows 11-21 HCP with a4card & suit. Also 14-2%, 2¢: 11-15
no 4¥ and 14-2&, 2¥: 11-21 with 4.
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After 1w-2¢, thereisno room for this distinction and opener's 2% shows a minimum with or without 4card 4.
Other rebids by opener show 16-21 HCP hands:

1v 10-21 5+card

1v-2& 9+ usualy 4+&
1v-2&-2¢ 10-15 no 44

1v-2&-2v 10-21 4e

1v-2&-24 16-21 4+e!

1v-2&-2N 16-22 no side suit
1v-2&-38 16-21 5v-4%

1v-24-3¢ 16-21 6Y-4!

1v-24-3v 16-21 5v-5&, singleton
1v-24-34 16-21 5v-5&, singleton ¢
1v-24-3N 16-21 5v-4&-4¢

Opener's jump rebids might look strange at first, but we will see the same bids a couple of timesin the GAR
convention.
After a 14 opening the schemais very much the same:

1e 10-21 5+card

1a-2% o+ 3+

14-28-2¢ 11-15 no 4v

1a-28-2v 11-21 4

14-28-24 16-21 4+e!

14-2%-2N 16-21 5+¥ no side suit
14-28-38 16-21 54-44

14-28-3¢ 16-21 64-4s!

14-2&-3v 16-21 54-5&, singleton v
14-2&-34 16-21 54-5&, singleton ¢
14-24-3N 16-21 54-4¢-4%

If responder wants to check for a4card ¥ with opener, he should bid 2#! rather than a4card ¢ suit he might have. That
isthereason why after 14 the 2# response can be as short asa 3card: e.g. with 4 Kx ¥ Axxx ¢ AQXx #xxx responder
can bid 2.

1v 10-21 5+card

1v-2¢ 9+ 5+¢ or 3-7 with 3card ¥ support
1v-2¢4-2v 11-15 4e still possible

1v-2¢4-24 16-21 5+v-4+4

1v-2¢-2N 16-21 5, no side suit

1v-2¢4-38 16-21 4+

1v-24-3¢ 16-21 4+¢

1v-2¢4-3v 16-21 6ty

1v-2¢-34 6%-54, 4/5 |osers

Note that 1v-2¢, 2N shows 5-3-3-2 distribution, while 1¥-2&, 2N can be a5 or 6 card ¥ suit.

After a 14 opening the 2¢ and 2¥ responses are swapped around! The reason for thisisto have more room for game
investigation when responder has a ¥ suit. 2/1 responsesto 14 are:
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1a 10-21 5+card
1a-2& 12+ 3+, GF
9-11 6+
1a-2¢ 10+ 5+v Il GF
8-10 6ty !l
1a-2v 12+ 5+e 11, GF
37 3/4 4
9-11 6+e !l

Rebids by opener after 14-2¢ are focussed on ¥ support. Because of the extra room created, opener can show his
minimum and ¥ support below 24: 14-2¢, 2% shows 2-4 ¥ support and 10-13 HCP; 14-2¢, 24 shows a minimum
without ¥ support. Other bids show 15+ as follows:

1e 10-21 5+card

1a-2¢ o+ 5+v

1a-2¢-2v 10-13 249

14-2¢-24 10-15 O-1lw

14-2¢-2N 15+ 24y

14-2¢-3% 16-21 4+, short ¥
14-2¢-3¢ 16-21 4+e, short ¥
14-2¢-3v 13-15 3vor54-2-2
14-2¢-34 16-21 64, short v
14-2¢-3N 11-13 4+%, singleton ¢
1a-2¢-4% 11-13 4+%, singleton &
14-2¢-4¢ 11-14 5v, singleton ¢
14-2¢-49 11-14 5v, singleton &

Bidding after 14-2% is natural, with 24 showing a minimum and other bids showing 16-21 HCP.

Now we come to the question how responder bids with a strong minor suit. With the above agreements, responder has
severa bids available without anatural meaning, e.g. 1¥-2%, 2¢-2% is not required to show ¥ support as responder
would bid 3v with ¥ support. Some examples:

1v-24, 2¢-2v: relay, Sl

1v 10-21 5+card

1v-2% 9+ 4+

1v-2&-2¢ 10-15 any distribution without 44
1v-2&-2¢-29 17+ relay, S

1v-2&-24-24 12-16 relay, GF

1v-2&-2¢-2N 12+ 6+&, GF+

1v-28-2¢-3&% 9-11 6+, not forcing
1v-28-24-3¢ 12-16 6%-4¢, not Sl

Responder has: 4 Axx ¥ Kx ¢ Qx # AKJ10xx and opener opened 1¥. Responder has and old-fashioned SI 3%
response. In Ambra responder bids 2# and when opener shows a minimum with 2¢, responder bids 2¥: relay with dam
interest. Opener's rebids are similar to his 2" round maximum bids:

24 5+9-4+¢ |

2N: 5+%, no side suit

3%: 5v-4&

3¢: 6v-44

3v: 5¥-5&, singleton &

3a: 5v-5&, singleton ¢

3N: 5v-4¢-4%



The development after 19-2%, 2v is:
24: relay, nofitine
2N: relay with fitin &
3%:9-11, 4%, not forcing

3¢: 6+, GF+

And after 19-2&, 29-24 relay:
2N: 6¥-54 or 5440 a 3&r a 3¢: 5440 min a3vr a 34:void ¢
38:54 a 3v. 6-5 a 3N: void &
3¢: 64 a 34: 544 void ¢
3v: 5-4sn e, 16+ a 3N: 544 void %

34:5-4sn&, 16+
Y ou should start to see the patterns in the relays by now, so you can work it out at the table.

An example from a practice game:

Kxx AXX

AKJIXX Qxx

X AKX

J10xx QxxxX

1v 2%

2¢:min 24:1,GF

3% 3v:max, light invite

3e:q 3nt:turbo, even (2) keycards
4¢:q 49:S0, no % control

pas

1M-Reverse Relay (IMRR)
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The bidding in this section appliesto the opening of 1 magjor followed by a28 rebid by opener, so these situations:
10-12 , 28
10-1NT, 28
12 -INT, 28

Asusual in Ambra, these 28 rebids have multiple meaning: either natural or a“reverse” hand (17+ HCP).
Responder can bid 2° - relay - with 8+ HCP and when opener show a reverse, the bidding is GF.
Over this2" relay, opener bids as follows:

1M-12 /NT-2§ 11-21 natural or 17+ reverse (or 17+ and 2 support for pd)
1M-12 /NT-28 -2° 8+ 1M-reversereay

1M-12 /NT-28 -2" -2M MIN 5M-3+§

1M-12 /NT-28 -2" -2NT 16-17 BAL, 5-3-3-2

1M-12 /NT-28 -2 -38 17+ bM-48

1M-12 /NT-28 -2" -3° 17+ 5M-4"

1M-12 /NT-28 -2" -3M 17+ 6+M

1M-12 /NT-28 -2° -3NT 18-20 BAL, 5-3-3-2

Thisisthe basic scheme, but there are afew extras, as opener’srebid in the other major has no natural meaning:
1. 1©-1N,28-2" , 22 =“impossible® ": 5+minor, 17+ HCP
2. 12 -1N, 28-2" , 30 =4+0O, 17+ HCP
3. 12-1IN, 28-2" ,20 ="“impossible ©": 4+§ , 15-16 HCP

After 1©-12 -28 , opener shows?@ support — 3+card — by bidding 22 . Responder then has a2NT relay avail able:
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1M-12 -2§ -2" -22 17+ 3+2 support

1IM-12 -2§ -2° -22 -2NT support relay

1IM-12 -2§ -2" -22 -2NT-38 17+ 3-5-1-4, 3card support, high sin
1IM-12 -2§ -2 -22 -2NT-3° 17+ 3-5-4-1, 3card support, low sin
1M-12 -2§ -2" -22 -2NT-30 17+ 60-32

1M-12 -2§ -2 -28 -PNT-32 17+ 4-5-2-2

1M-12 -2§ -2" -22 -2NT-3NT 17-20 BAL, 3-5-(3-2)

1M-12 -2§ -2 -28 -2NT-48 17+ splinter, 4card support, sin §
1M-12 -2§-2" -28 -2NT-4" 17+ splinter, 4card support, sin”~

(Again Garozzo does not use high-shortage-first here.)

1m-Rever 2 Relay (ImRR)

Aswas discussed in the section about the 18 opening, after 18 -1©, opener has a general reverse avalablewith 2" ,
showing areal reverse with 58 -4" or 6+8 with 17+ HCP or a hand with © support and 17+ HCP. Responder'srebid in
the 4" stit isagain arelay (ImRR):

1§-10-2° 17+ with 4" , 68§ or © support
1§-1©0-2" -22 ImRR

1§-1©-2" -22 -2NT 17+ 5+§ 4"

1§-1©-2" -22 -38 17+ 6+8

1§-1©-2" -22 -3 17+ 68 -5" , 3-4%2losers
1§-1©-2" -22 -30 18-20 40, BAL

1§-10-2" -22 -3 17+ 58 -4©-42 (so you can be void for 2" bid!)
1§-1©-2" -22 -48 17+ 58 -40,sin?

1§-10-2" -22 -4 17+ 58 -40, sin”

After 18-10-2" -22 -2NT, 38 is afurther relay and opener bids:

3 :68-4

30: 30

32 St?2

3nt: to-play

After the 1" opening, opener's rebid of 2§ isthe false reverse and the ImRR in the 4™ suit works much the same (see
the main diagrams for details). Animportant principle to remember is: when the 4" sit is available at the 2-level, other
bids on the 2-level are weak and bids on the 3-level are 9/11 (when opener can till have 11-16 HCP). Therefore, also
2nt is not natural, but shows a weak hand that cannot be expressed otherwise. See for example the sequence 1§ -10-2" -
2nt: 47 1, 5/7 HCP.

3" suit forcing relay (3SF)

A rebid by responder in the cheapest 3" suit is forcing and a relay. The following sequences apply:
- 18-1" ,28-20

1§-10, 2§ -2

1§-12 , 2§-2°

1 -10,2" -2

1 -12,2 -20
In all these sequences opener rebids his suit and responder bids the cheapest 3 suit. This bid is forcing and opener
responds in much the same manner as in Checkback: showing support for responder and his strength.

Assuming the bidding starts 1x-1y, 2x-2w: opener's rebids are quite natural:
2y = 3card suport (6card in opener's own suit), MIN

2z =MIN or MAX, either 4card w or 4card z if still possible

2NT = MAX without support

3x = MIN without support
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See the next chapters for specific examples of this relay.

After 18-1" , 28§ -2© therebids are similar:
22 ="impossible2 ", MIN, 3"

2NT =MAX,no 3’

38 =MIN,no3

3 =MAX, 3

When opponentsintervene

This chapter deals with the situation where opponent overcall our opening bid. The Italians like to play alot of transfers
in those situations and Garozzo has implemented them into Ambra. In principle the double is atransfer to the next suit
and so are other responses. A cue bid shows agood 5-5. Jumps to the 2 level are GF with a good 6card suit (no
transfers). Jumps to 2NT and 3 level are transfers with a good 6card suit and invitational strength.

Let uswork out the table after 14-(14):

14-(19)
1%-(16)-X 6+ 4+v (but see 2¥ and 3¢ below)
1a-(16)-1v 6+ 4+a
1a-(14)-14 8-10 balanced
11+ without biddable suit on 1 level
14-(1¢)-1IN 3-7| 12+ 5+%
1&-(16)-28 8-11 (4)5+
14-(14)-2¢ 8+ 5v-54
1a-(14)-29 12+ 6+v
1&-(16)-24 12+ G+e
14-(1¢)-2N o+ G+
1%-(16)-3% 12+ 5+&, singleton ¢, GF
14-(14)-3¢ 9-11 6+v
1&-(14)-3v 9-11 6+4
1%-(16)-34 12+ balanced, transfer to 3NT
1%-(14)-3N 12-15 to play
1&-(1v)
1%-(1v)-X 6+ 4+4 (but see 24 and 3v below)
1a-(1v)-14 8-10 balanced
11+ without biddable suit on 1 level
14-(1v)-1IN 3-7| 12+ 5+%
1a-(1v)-2% 3-7| 12+ 5+¢
1a-(1v)-2¢ 8-10 5+%
1a-(1v)-2v 8+ 54-5m
1a-(1v)-24 12+ G+e
14-(1v)-2N o+ G+
1a-(1v)-3% o+ 6+¢
1%-(1v)-3¢ 12+ 5+&, singleton v, GF
1a-(1v)-3v 9-11 6+4
1%-(1v)-34 12+ balanced, transfer to 3NT
1%-(1v)-3N 12-15 to play

After 1%-(14), we need the negative double to show a4card ¥, so INT is naturd, but from 2& onwards the transfer
systemisin operation again.

So what isthe difference between 1&-(1%)-2& and 1%-(1v¥)-3# as both are transfer to ? With aweak hand or a GF
hand with exactly 5¢ we would transfer with 2¢#, passing of course with the weak variety and bidding on with the GF
hand. With a6¢ suit and 9+ HCP we would transfer with 3#, passing with 9-11 and bidding on with 12+.
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OPENINGS

18 =2+§ 10/22HCP

Distributions included : &) Balanced 12/14 HCP or 18/20 HCP 1 48-3-33
1484 -32
1 48-40-3-2
] 48-42-3-2
1 4©-3-3-3
] 42 -3-3-3
] 40-42 -3-2
b) Semi-balanced 12/14 HCP or 18/20 HCP] 58 -3-3-2
c) One-suited 11/22 HCP ] 6+8
d) Two-suited 11/22 HCP ] 548 -4x
€) Two-suited with 3/5 losers 7] 6+8-5x
f) Three-suited 11/22 HCP 1 48-4-4-1
1" =4+ 10/22HCP
Distributions included : &) Balanced 12/14 HCP or 18/20 HCP 14 -333
14 -40-3-2
14 -4-32
b) Semi-balanced 12/14 HCP or 1820 HCP] 5 -3-3-2
c) One-suited 11/22 HCP ] 6+
d) Two-suited 11/22 HCP ] 5+ -4x
] 5+ -58
€) Two-suited with 3/5 losers ] 6+ -5x
f) Three-suited with 11/22 HCP 14 -44-18
1© =5+0 10/21HCP
Distributions included : &) Semi-balanced 12/20 HCP ] 50-3-3-2
b) Two-suited 11/21 HCP 7 5+0-4+x
) Two-suited with morethan 5 losers 7] 5+O©-5+minor
d) Two-suited with 4/5 losers ] 6+O-5+x
€) One-suited 11/21 HCP 5+ losers ] 6+©
12 =5+ 10/21HCP
Distributions included : &) Semi-balanced 12/20 HCP ] 5°-332
b) Two-suited 11/21 HCP ] 5+2 -4+x
) Two-suited with morethan 5 losers 7 5+ -5+x
d) Two-suited with 4/5 losers ] 6+2 -5+x
€) One-suited 11/21 HCP 5+ losers ] 6+

Int =15/17HCP
Distributions included : ] 4-3-3-3

q 4432

] 5m-3-3-2
] 5m-4-2-2
] 6mL-3-2-2

28 =GFgeneradly 20+ HCP

Distributions included : 7] BAL 23+HCP
J 6+mGF
J 4M-5+m GF
1 4-4-41GF

a) 60 5/10 HCP
b) 5+© GF
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20 = @6 510HCP
b) 5+2 GF
22 = a) 5+m-4+om 5/10HCP
b) 5+m-4+om 4 losers or less

|| 2NT =21/22 HCP possibly even a 5* major

|| 38 =78 Preemptin3® and 4% position perhaps only 68

[[3 =7 Preemptin3 and 4 position perhaps only 6'

3© =70O Preempt

[ 2 =70 Preempt

3NT =Gambling
Distributions included : &) One-suited ] 7/88 with AKQ
1 7/8 with AKQ

48 = @) In1*and 2% position UUUU 8/8 Yxtricksin ©, one-stited with 7+© solid or semisolid
b) In3%and 4* position JUUU 8+§ Preempt

4 = alIn1*and 2% position UUUU 8/8 Yetricksin? , one-stited with 7+2 solid or semisolid
b) In3%and 4% position JUUU 8+ Preempt

40 =80 Preemptin 3% and 4% position perhaps only 7©

42 =8 Preemptin3®and 4° position perhaps only 72

[ anT =2

[ 55 =o9+5 Preempt

5 =9+ Preempt
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LEGEN

GF
GF+
SO

NSI

S

Gl

Gl+

NF

F1
MAX
MIN
RELAY
CHKBCK
GAR
1ImRR
IMRR
3SF
4S3344
MCHK
2ntT
A4hSUIT
FIT

St?

St

NSt
SGL
BAL
UNBAL

ZC-ruepgd

= Forcing to Game

= Forcing to Game or more
= Sign Off

= Not inviting Slam

Inviting Game

Inviting Game or more
= Passable
=Forcing 1 round
= Maximum hand
= Minimum hand
=RELAY asking for more information
= Checkback Stayman
= GAR continuations
=1 minor Reverse Relay
=1 Mgjor Reverse Relay
= 3" Suit Forcing relay
=relay after opener shows support
= minors Check
= 2ntT continuations
= See Gadgets
= Shows FIT in suit x
= Asksfor stopin x
= Stop in suit x
= No stop in suit x
= Singleton in x
= Balanced Hand
= Unbaanced Hand
= Take Out Double
= Penalty Double
= All bids higher than 2x
= Conventional
= Relay
= Good Suit
= Bad Suit
= Bidding goes over to partner
= Developments?
= Preempt
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GENERAL PRINCIPLESFOR THE COMPETITIVE AUCTION

DOUBLE

Our doubles are generally al TO at al levels at least when doubler has not shown length in the suit. We use the PD at low levels only
when one of us has shown given a penalty pass. In penalty situations when we know we have balanced hands and we hold a certain
majority of the pointswe utilize the double to suggest partner pass with length in the suit. One doesnt make a double if one doesn't
warnt partner to convert to penalty.

PENALTY DOUBLE (PD)

Despite the many TO doubles there are standard situations in which doubles are penalty :
a)  Partner has opened a preempt

b)  We have made a Penalty Pass over a TO double of asuit or NT bid higher than INT
¢)  Thedouble of asuit inwhich the doubler has shown 5+ cards

d) Wehaveaready madea PD

DOUBLE WHEN WE HAVE FOUND A FIT

Whenwe are in aforcing situation the double of an enemy suit showsa SGL in that suit . If this hgppens beyond the 3-level of our
suit then double isinvitation to slam. When the opponents bid their suit under the level of our cheapest competitive raise then the
double shows extra strength or good defensive cards.

After two “PASSES’ the double can be necessary with many types of special handsif one wart to give partner the chance to convert

to penalty.
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18 OPENING

18 71 1° = a4 10+HCP
b)5° 9+ HCPif MIN thenis UNBAL
c) 6+ 5+ HCP
1 1© =4+0 5+ HCP possibly 5+ with 5/9 HCP
1 12 =4+2 5+ HCP possibly 5+ with 5/9 HCP
1 1Int = &) 4/58 5/10 HCP
b) 4/5° 5/10 HCP
1 28 =4+§ 11+ HCP generally without 4° major on the side( possibly only with 5+§ )
1 20 = & 6+0 2/(7) HCP M with decent ©
b) 6+© J 12+ HCP possibly a 4card on the side
1 20 = a6+ 2/(7) HCP M with decent 2
b) 6+ J 12+ HCP possibly a 4card on the side
1 22 = 3a5+§8 J most probably 4° (6)/9 HCP
b) 5+§-4" SGL M GF+
) 6+8 GF+ with SGL not S|
1 2nt =68 2/6 HCPM
1 38 =68 with2top honors8/10 HCP
1 3 =7+ 4/8HCP
1 3© =7+0 4/8HCP
1 3 =7+ 4/8HCP
1 3nt =48-3-3-3with 0/3 controls 12/14 HCP
18 | 1
18 r
1© =4+§-40 11/16 HCP
12 =4+8-42 1J16HCP
Int =58-3-3-2/48-3-3-3/48 4" -3-2/ 40-3-3-3/ 42 -3-3-3/ 40-42 -3-2 12/14HCP
28 =6+§ 11/16HCP
2" =4+§-4 11/14HCP
20 = a) 5+§ -40 17+ HCP
b) 6+§ 17+HCP
c) 5t§-4° 17+ HCP
22 =5+§-42 17+ HCP
2t =18/20HCPBAL
38 =6+8 J 1316 HCP
3 =5+8-4" 14/16HCP
30 =4§8-4" -42-10 18/22 HCP
3P =4§8-4 -40-12 18/22HCP
3t =4§8-40-42 -1 18/22 HCP




18
1©

18
1©
Int
28

2nt
38

3a

18
1©
Int

18
1©
28

18
1©

18
1©

18
1©
28

2nt
38

1 71
1 1@ =4+ -£ F1
1 1Int =911HCP
T 28 =RELAY GI+UUUUU SeGADGETS
1 2 =6+ 59HCP
1 20 =4+" -4+O Gl without SGL
J 22 =4COLORESIwith5+ -48 UUUUU J2nt = GAR
1 2nt =2ntT 4+O© SGL or 6+ -50/
1 38 =5 -4/58 9/11HCP
1 3 =6+ 911HCP
1 30 =4+ -40 Gl strength without SGL
1 3 =5+ -4+©0SGL?2 lightSl
1 48 =5+ -4+© SGL § light SI
1 71
1 n»
= 4+§ -40 MIN
=68 -40 MIN
= @) 58-40-3 -1 14/16 HCP
b) 48 -4" -40-12 MIN
=68 -40 MAX
=4§-40-42 -1" MIN
= 5§ -40 MAX

=68 J -40 13/16 HCP
=45 -4 -40-1* 1517 HCP
= 45 -40-4% -1" 15/17HCP

T
15

28 =RELAY SI UUUU Natural Continuations
2 =6 -42 9/11HCP

2nt =LIM

38 =5 -42-35-10 10/11 HCP

3 =6 -4% GF

16
=6 -4 10/11 HCP
=5 -42 -30-1§ 10/11 HCP

=LIM without HITin§ 10/11 HCP

2nt =4 -42 10/11 HCP
3 =5 -42 10/11 HCP

2n =4+ -4 10/11 HCP with 0/28
38 =4+ -4 38 GF
3 =6 -4 GF

1
Int
68 -40 MIN
a) 58 -4©-3" -1 11/13HCP
b) 48 -4" -4©-12 11/13HCP
68 -40 MAX
=4§-40-42 -1" 1517HCP
=58 -40 MAX
=68 -40 AKQ/ AKJ/ AQJ/ AKT 13/16 HCP
=48 -40-4" -12 1517HCP

T o o e ] e e o e e ] o e ] ] e o e e ] ]
=

J2rt=SGL 2
136 =SGL -

22 =RELAY for MIN and MAX and distribution UUUUUU J2nt=MAX 14 HCP

138 =58-40-3" -12 MAX 13/14 HCP
13 =3+ MIN

J2rt=SGL 2
138 =SGL ™

21
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18
1©

2nt
38

18
12

18
12
28

2nt
38

18
int

18
28

T T TR TR T |

] e e e e e e e e ] e

1
1

] e e e e ] ] e ol ] ] e e o

1
>

68 -4© 15/16 HCP

58 -4© 16 HCPNSt 2 but no SGL @

58 -40 16 HCP FE @

68 J-4© 15/16 HCP

4/58 -40-3/4" -12 15/16 HCP

T
Int =9/11HCPwith4/5"
28 =RELAY atleast invitational
2 =6+ 5/9HCP
20 =4COLORE Slwith5+ -4+§ UUUUUUUU J2nt=GAR
22 =447 -4* badinvite
2nt  =2ntT UUUU See developments
38 =5 -4/58 9/11HCP
3 =6+ 911HCP
30 =5 -42 SGL O light S
33 =4+ -4 Gl grength without SGL
48 =5 -42 SGL ag light Sl
T
Int
68 -4 MIN
a) 48 -42 -4’ -10 11J/13HCP
b) 58 -42 -3" -1© 11/13 HCP
68 -42 MAX
5§ -42 MAX
68 J-42

45 -4 42 -1© 15/17 HCP

"
2§ =CHKBCK1

2" =CHKBCK2

20 =4 -4010/12HCP

22 =4 42 10/12HCP

2t =2nT UUUUUUUUUUU 738 =Forced UUUUUUU 13 =5 -58 GF+
3§ =4 -5+§ 911 HCPLIM J30=6 -50 GF+
3 =6+ GF J3* =6 5° GF+
30 =5 42 SGLOGF J3n=6+ S

¥ =5 4O0SGL? GF Jcue=6+ S+

"

2 =6+ SO

22 =5+ -4 GFUUUUUUUUU ]2t =RELAY UUU GAR

=2ntT UUU See developmerts
=LIM 911 HCP

3 =6 10/11HCP

30 =3+8 GFwithSGL ©

3 =3+8 GFwithSGL 2

W N
w

20 =RELAY UUUUUUUJUUUU J22 =MINwith3" UUUUUUUUuUuUu 13 =9/11HCP

7 2rt= MAX without 3°
J38 =MINwithout 3° UUUUU
13 =MAX with3’

J3o= 20
P =swee



18 r

2 =5+ £ GFUUUUUUUU 7 2nt= RELAY UUU GAR

2nt = 2ntT UUUU See developments

38 =5+ -48 9/11 HCP

3 =M

30 =4+ SGL © GF

3 =4+ SGL 2 GF

20 =RELAY UUUUUUU |22 =5+§-4 MINwithSGL UUU ] 2nt = GAR
45 =M J2nt=BAL

e e e ] e e e e

The only non-forcing bid after 18 J1° J2° 20722 /2ntis3" which showsan invitationa hand with 4+"

18 ] T
20 ] 22 =RELAY GFUUUUUUUU TJ2nt=5+§-40 UUUUU 738 =RELAY UUUU GAR
1 2nt =6+ GF 138 =6+§ 17+HCPUUU See18 J1° 138
1 3 =6+ andlessthan7 HCP 13 =5+§8-4" 17+HCP
1 3© =6 -50GF 139 =68-50 3/4 losers
1 3 =6 -5 GF 13 =58-40-42 17+ HCP
18 ] T
20 71 3
3®© =S?0
P =572
18 ] T
2 ] 2nt =RELAY GFUUUUU GAR
1 38 =8SOlessthan7 HCP
1 3 =6+ SOlessthan7HCP
1 3© =6 -50GF
18 ] T
2t ] 38 =TEXASto3 UUUUUUU TJpass=6 45HCP
1 3 =4 -4059 J3© =5+ 409
1 30© =4 -479 3 =565+ -4 9
1 3 =4 -489d J3nt=5" S
J 3t =0 J48 =5+ 48 9
1 4t =4 -3-3-39 J4 =6+ 9
18 3 1
3 1 3 =5+ S UUUUUUU 30 =St?a0
1 3© =s?a© 13 =St?a?
1 # =St?a? 1 3nt=1 havetwo stops

748 = CueBidwith 3’
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1§ ] 10
1 1 10
12 =42 11-16 HCP
Int =58-3-3-2/48-3-3-3/48 4" -3-2/58 4" -2-2/58 -4" -3 -1© 11/14HCP
28 = 3 6+§ 1U/I6HCP
b) 58 -4" -32 -1© 15/16 HCP
2 = a) 5+§ -4" 17+ HCP
b) 6+§ 17+HCP
) 58 -4© with SGL 17+ HCP
d) 4© 18/20 HCPBAL
20 = a) 40 11/14 HCP BAL
b) 58 -4© 11/13HCP
c) 58 -4" -30-12 11/15HCP
d) 48 -4 -30-22 11/14 HCPwith small cards in?@
22 =5+§-42 17+ HCP
2nt  =18/20HCPBAL
38 =6+8 J 13/16 HCP
3 =48 -40-42 -1° 18/22HCP
30 =4+§-40 14/16 HCP
P =48-4" -40-12 18/22HCP
3nt =48-4" -42 -10 18/22 HCP
48 =68-40 13/16 HCPSGL 2
4 =68 -40 13/16 HCP SGL
1 1 10
12 7] 1nt =Naturd
1 28 =RELAYGI+
1 2 =4hSUITGF50-4+§ UUUUUUUUU ] 2nt=GAR
1 20 =60 (7)-(10)HCP
1 22 =4+0-4* 5/9HCP
T 2nt =2ntT UUUUUU Seedevelopments
1 38 =50-4+§ 9/11HCP
1 3 =50-5 9/11HCP
1 3© =60 10/11HCP
1 3 =4+0-4 9/11HCP
1 3nt =Naturd
1 48 =4+0-4* SGL § smal Sl
1 4 =4+0-4 SGL " smal Sl
1 1 10
12 ] 1int
28 =68-42 MIN
2 = a) 48 -42 -4’ -10 15/17 HCP
b) 58 -42 -4" 15/16 HCP
20 =5§-42-30-1" 14/16 HCP
22 =68-42 MAX
2nt =5§-42 -3 -10 15/16 HCP
38 =68 J-4° 13/16 HCP
18 1©
Int

28 =CHKBCK

2" =CHKBCK

20 =5+0 not so many points, if 60 then© are L
22 =50O-42 GF

2nt = 2ntT UUU Seedevelopmerts

3§ =40-5+§ LIM

3" =50-48 SGL" GF

30 =60 GFwith© not great but not horrible

3P =50-48 GL 2 GF

3t =S0O

e ] e e e e e e e e




18
28

18
28

18
28
38

18
28
2nt

18

e e e e ] e e e e ] e e e e e e e ] e el

O e e R = |

] e e e e e e e el

1©
>
20
28
2nt
38
3
30
3
3nt
48
4

1©
>
28
2nt
38
3
30

RRUNE gENE

BBEBIL6

1©
28
2nt
38
3
30
3
48
4

= RELAY G+ UUUUUUUUUUUUU ] 20 =68 -390 MIN
= 60 (7)/(10) HCP 722 =4 MINor MAXUUU
=5+0-42 13+ HCP 138 =MIN

=2ntT UUU See developmerts 139 =68 -30 MAX
=40-3+§ 9/11 HCP J2nt=MAX
=50-5" 9/11HCP

=60 9/11 HCP

=3+8 SGL 2 GF

= Natural

=RKCB

=348 SGL " S

=St?2

= Natura F1
=LIM

=St?”

=50 usudly Gl

=St
=60 GF
=Stoa

=St
=60 GF
=Stoa

=50 5/7 HCP

=4 5/7THCP

= 2/4§ 5/THCP
=50-5" 7+ HCPGF
= 60 8+ HCP GF
=60-52 12+HCP

=RELAY UUUUUUU J2t=5+§-4 17+ HCPUUUU ]38 =RELAY UUU]3 =684

138 =6+§ 17+ HCP

J3 =685 3-4%losers
739 = 40 bal 18/20 HCP
J3* =58-40-42 17+ HCP
J48 =5+8-40SGL 2

J4 =5+§-40SGL "

= RELAY, 4S3344, Gl+, usually balanced
=4+0, SGL 2, Gl or strong Sl

=4+0, SGL §, Gl or strong Sl

=4+0, SGL " , Gl or strong Sl

=M

=5+0 SGL 2, light S

=5+0 SGL §, light S

=5+0 SGL ", light Sl

J2rt=GAR
138 =LIM
J30 =60GF
3 =52

J3©9=30
] =g
J3nt=stop?

25
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18 1 10
20 1 =
2nt =40 with SGL MIN or MAXUUUUUUUU 138 =RELAY UUUUU 7J3 =MINwithSGL 2
3% =30MINUUUUUUUU]3 =77 13© =MINwithSGL ~
J3©=50 13* =MAX withSGL 2
qF =522 J3nt=MAX with SGL ~
J3nt=S0
3 =30MAXUUUUUUUUUU 30 =St?°
30 =4© MIN without SGL 3 =st?e
¥ =42 MAX without SGL
18 1 10
2 71 P =34 45HCP
1 2nt =RELAY,GCF GAR
1 3% =50
1 3 =50-5 7+HCPGF
1 3© =6+08+HCPGF
1 3# =4 57HCP
18 1 10
2t ] 3 =504 9
q1 3 =TEXASto30UUU _30UUUUUU P =504/5HCP
1 30 =40-4 13 =50-42
1 3# =40-4859 148 =50-48 S
1 3t =0 14 =Cuebid 6+O SI
1 48 =Cuebidwith5+© 3 J4©=6+© 9
1 4 = Cuebid with5+© Sl
1 40 =6+#©0S0
18 1 10
¥ ] I =52
71 30 =5+t0GF UUUUU]2? =20
1 3 =5t 13nt=0/1©
1 3nt =Naturd J48 =CueBidwith 30
1§ ] 18
18 3 18
Int =48-3-3-3/48 -4-3-2 without 42 /5§ -3-3-2/ 58 -4-2-2/ 58 -4-3-12 /4§ -4-4-12 11/14HCP
28 =  a)6+8 11/16HCP
b) 58 -4~ 15/16 HCP
) 58 -4© 15/16 HCP
27 = @a@48-4 1517HCP
b) 6+§ 17+ HCP
C) 4+8 -42 17+ HCPUNBAL
d) 42 18/20 HCP BAL
e) 5+§ -4° 17+ HCP
20 =5+§-40 17+ HCP
2 = @4 1V14HCP
b) 58 -4-32 -1 11/14 HCP
c) 58 -42 -2-2 11/14 HCP
d) 48 -4-32 -2 11/14 HCP with worthless doubleton
2nt =18/20HCPBAL
38 =6+8J 13/16 HCP
3 =48-40-42 -1" 18/22HCP
30 =4§8-4" -42-10 18/22HCP
¥ = @) 58-4% 14/16HCP
b) 48 -4 -4-1 14/16 HCP
3t =48-4" -40-12 1822 HCP
48 =68-4* SGL © 13/16 HCP
4 =68-4* SGL " 13/16 HCP




18
int

18
28

18
28

2nt
38
3
3nt

18
28

18

18
2nt
38

3
48

27

16

28 =CHKBCK

2" =CHKBCK

20 =542 -4+O not many points
22 =542 not many points

2nt = 2ntT UUU Seedevelopmerts
38 =4 -5+8§ LIM

3 =5-48 SGL" GF

30 =5-48 SGL © GF

3F =6+ GFwith not great 2
3nt =S0O

16
2" =RELAY,3sFUUUUU J20=4 /o MINorMAX UUUUU J22 =RELAY GFUSee conts

20 =5 -4+0GF 122 =32 MIN 138 =2+8 9/11 HCP
22 =6 8/10HCP J2nt=MAX

2t =2ntT 138 =MINOUUUUUUUUU ]33 =g?°

38  =2+8 911HCP 13 =68-4° MAX J3© =370

3 =5-5 9/11HCP 130 =68 -40 MAX 13 =6 GF

30 =5-509/11HCP 13 =68-3 MAX

P =6+ 9Y11HCP

T o ol e ] e e ] e el e ] e e e e e e e

o
22
58 -40
65-40 MINUUUUU 73 =RELAY for SGL
65-4° MINUUUUU 730 =RELAY for SGL
5§ -4 -2-2 with worthless doubleton and honors concentrated in the minors
58-4" SGL 2
58-4" SGL ©
1 r
1 2
1 2nt =F1
1 33 =LIM
1 3 =37
1 3©® =520
1 ¥ =54
1 r
J 20 =RELAYGF,ImRRUUUUU 722 =484 -40-12 1517HCPUUUUU TJ2nt=S0
1 22 =5 47HCP J2nt=5+8-4" 17+ HCP 138 =0
1 2t =4 4/7HCP 138 =6+8 17+HCP 13 =0
1 38 =2/48 47HCP P13 =68-5 3ldlosers 1 3© = Fixes© GF
1 3 =5-5 7+HCPGF 13 =47 ba 18/20HCP
1 3© =5 -507+HCPGF J48 =5+§-42 SGL © 17+ HCP
1 3 =6+ 8+HCPGF 14 =5+8-42 SGL " 17+HCP
1 r
1 22
=LIM
=LIM
=68-5 3/4losers NF
=St?0©
=42 bal 18HCP
=68-4* SGLO S

=68-42 SGL" 9
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18
38

Q@ w

48

18

38

3
3nt

18
2nt

18
38

1 =

1 ont

=LIM

=5+§-4" NF

=St?0

=42 ba 18HCP

=68-42 SGLOS

=68-42 SGL" 9

1 =

1 38

=68-5 3/4losersNF

=St?0

=42 ba 18HCP

=68-42 SGLOS

=68-42 SGL" 9

1 =

T 2nt =RELAY, 433344, Gl+ UUU Seedevelopmerts

1 38 =4+ ,SGL §, Gl or gtrong S|

1 3 =4+2 /SGL " , Gl or strong Sl

1 30 =4+, SGL ©, Gl or gtrong S|

1 3 =M

1 3nt =Proposestoplayif bad? L and club honors probably 4-3-3-3

1 48 =5+ SGL § lightSl

1 4 =5+ SGL" lightSl

1 40 =5+ SGL ©lightSl

1 =

1 ont

=42 with SGL MIN or MAXUUUUUUU 73 =RELAY UUUUUUU 739 =MINwithSGL ©

=3 MINUUUUUUU 730 =5st?" 13 =MINwithSGL ~
13 =0 ] 3nt=MAX with SGL ©
J3nt=S0 148 =MAX with SGL ~

=3 MAXUUUUUUUUUUUUUUU3 3@ =g?°

=42 MIN without SGL

=42 MAX without SGL

1 =

1 38 =5+-4 g

1 3 =5+2-409

71 30 =TEXASfor32 UUUUUa3x UU ]3nt=5* not Sl

1 3 =4-4879d J48 =52 -48 9

1 48 =Cuebidwith5* S 14 =Cuebidwith6* S

1 4 =Cuebidwith5* S J14© =Cuebidwith6* Sl

1 4© =52-50notS 142 =62 Sl amost certainly a cuebidin§

1 =

1 3 =32

71 30 =5+ GFUUUUUUUUUU 3 =2

1 3 =320 J3n=0/12

1 3t =50 148 = CueBid with 32

1

40 =5+ -5+0 NSl
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18 ] 1nt

18 ] 1Int
28 =6+8 11/14 HCP possibly a4card on the side
2°  =RELAY,MCHKUUUUUUUUUUUUUU 720 =MINUUUUUUUT] 2 =RELAY seeMAX
20 =5+§-40 17+ HCP q122 =5
22 =5+§-42 17+ HCP J2nt=4" -3-3:3MAX
nt = a) Preempt asking for better minor 138 =4/58 MAX

b) 18/20 HCP bal lacking a stop 13 =48-4° MAX
38 =6+§ J 13/16HCP
3 =68-5 3-4%losers
30 =68§-50 3-4%losers
¥  =6§8-5° 3-4%losers
3nt = Natura

18 ] 28

18 1 28
2 = a) BAL, 12-14HCP

b) 6+§, 11/17 HCP

) 5+§ -4+ 11/21 HCP

d) 4441, 11-17 HCP
20 =5+§-40UUUUUUUU J2ni= GAR

138 =Passable 10/11 HCP
2 =5+ -4 UUUUUUUU J 2ni= GAR
138 =Passable 10/11 HCP

2nt  =18/20HCPBALUUUUUUSeeMIN: 1§ -28 -2" -20-2nt
38 =6+8 16+ HCPwith SGL
3" =6+§ 16+ HCPwithout SGL
30 =48-4" -42-10 18/22 HCP
32 =48-4" -40-12 18/22HCP
3nt =4§-40-42 -1" 18/22HCP
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18 ] 28
2 1 20 =RELAY SIUUUU ]2 =5+§-4" 11/21HCP 13 /© A =S?inthe suit
J2nt=bad UUUUUUUUU ]38 =RELAY UUU]3 =48
138 =6+8 11/15 HCPwith SGL 139 =40 without 48
13 =6+8 11/15 HCPwithout SGL 13 =42 without 48
130 =48-4" -42 -10 1V/17HCP
13 =48-4" -40-12 1V/17HCP
13nt=48 -40-42 -1" 11/14HCP
148 =48-40-42 -1" 15/17HCP
q1 22 =RELAY GFnotSIUUUUU 7 2nt= 12/14 HCP without SGL
138 =68 or58-4" 11/14HCPwith SGL UU] 3" =RELAY
13 =58-4" 16/21 HCPwith SGL
130 =4-4-4-10 1114 HCP
13 =4-4-412 11/14HCP
13nt=4-4-4-1" 1114 HCP
1 2nt =4/58 10/12 HCP good hand for NT not forcing
1 38 =5+§ 10/11HCP
J 3 =5+8-40” GFSGL" not S UUUUUU 730 =40
1 3© =5+8-40GFSGL a? not Sl q3F =4
1 3 =5+8-4 GFSGL a© not Sl
1§ ] 2
18 2
20 =11/14HCP
22 =5+§-42 17+ HCP or perhaps only valuesin?
2nt =15+ HCPwith at least 2© used perhapsasa Gl
3§ =6+8 16/18 HCPnot forcing
3"  =5+8-4" 17+ HCP or perhaps only valuesin”
30 =30 M
P  =68-52 3-4%losers
3nt =S80
40 =80
8 1 2
20 ] 22 =60-4 GF
1 2nt =6+©GF
1 38 =60-48 GF
1 3 =604 GF
1 3© =70 fixing trumps, asking for aces
8 1 2
2t J 38 =MAXwithout SGL in2 UUUUU ]3 =RELAY UUU ] 30 = MAX without SGL
1 3 =MINoGFUUUUUUTJ30=50 IF =sCGL~
71 3© =medium hand without SGL J3nt=SGL §
1 3# =60MAXwithSGL?
T 3t =AKQxxxin®
1 48 =60-48 GF
1 4 =604 GF

This system of responses we also use with 1 ] 20/22 and even weak twos and responding to aweak jump overcall
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1§ ] 20
18 1 20
22 =11/14HCP
2nt =15+ HCPwith at least 22 perhapsinvitational to game
38 =6+8 16/18 HCP not forcing
3" =5+§-4" 17+ HCP or perhaps only valuesin”
3© =5+§-40 17+ HCP or perhaps only valuesin©
¥ =3+ M
3t =0
42 =380
18 1 20
2 71 2t =6+ GF
1 3% =6*-48 GF
1 3 =624 GF
1 30 =6*-40GF
1 3 =72 fixes* asking for aces
18 1 20
2t J 38 =MAXwithout SGL © UUUUUUU ]3 =RELAY UUUJ30 =SGL ~
1 3 =MINUUUUUU]Z =50 13 =MAX without SGL
1 3© =MAXwithSGL © A3nt=SGL §
1 # =Mediumhand without SGL
T 3t =AKQxxxin?2
1 48 =6*-48 GF
1 4 =624 GF
1§ | 2
8 1 22
2nt  =Asking SGL UUUUUUUUUUU ] 38=5+8 MINUUUU 7J3 =RELAY UUUUU J30=SGL 2
¥ =50 1 3 =5+§ SGL @ MAX 13F =SGLO©
3 = 1 30=5+§ SGL © MAX J3nt=SGL ~
3 =S?0 ] 3 =5+8 SGL" MAX
¥ =5
48 =M
58 =M
18 ] 2nt
18 1 2nt
¥ =
3 =
3 =S?0
¥ =5e
48 =

58
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INTERFERENCE OVER 18 OPENING

INTERFERENCE IN 22POSITION

CASE A : Opponent doubles

N E S W
18 1 X T XX =4+
T Ix1 =4+x
7 1* =810HCPbd or BAL Gl+
7 It =(45+§ SOor GF
1 28 =(56+ SOorGF
7 2 =SystemON

CASEB : Opponent bids one of asuit
N E S w
18 ] Ix 1 X =4+ywherey=x+1

1 1y =4+zwherez=y+1UUUU SystemON
1 12 =8/10 HCP balanced 11+ HCP without 4 biddable cards at the one-level
1 It =5+8 Weak or GF+
1 28 =5+
1 2 =5+
T 2x =558+HCPifx=" UUUB50-5 if x=M UUU 50M-5m
1 2w =5+w Passable
1 2y =6yGF
1 2t =6+8 GI+
1 3x1 =5+8§ GF+ SGL x denying 4M
1 38 =6+ G+
1 3 =600l
1 3© =6+ Cl
1 3 =ba GFwanting you to play 3nt
1 3t =S0
Exception :
N E S W
18 ] 1 7] X =40 8+HCPorba GF+
1 1Int =7/10HCPBA
1 28 =5+
1 2 =5+
1 20 =5+§ GI+
1 22 =505 GI+
1 2t =6+8 GI+
1 38 =6+ G+
1 3 =6+0CI+

CASE C : Opponent bids INT natural
N E S W
18 1 It J X =PD
1 2x+ =Rubensohl ON

CASED : Opponent jumps to the two-level showing a one-suiter with any amount of points
N E S W
18 1 2x ] X =TO

1 2y+ =Rubensohl ON



18 opening
1) (1©) (1) (ANT) (2°)

X 4+© 442 40, 8+ | balGF | Penalty TO
1© 4+2
12 8/10 bal | 11+ | 8/10, bal
INT 5+8, w | GF 5+8, w | GF 7/10 bal
28 4/58, 9-12 5+" 5+° 5+"
2" 50-52 , 8+ 4/58, 9-12 5+© 5+©
20 6+0©, GF 52 -5m, 8+ 5+8, Gl+ 5+2 5+0, F1
28 6+ , GF 6+ , GF 5©-5m, 8+ 5+§, weak 5+2 , F1
2NT 6+8, Gl+ 6+8, Gl+ 6+8, Gl+ 6+8, Gl+
38 548, X" ,GF | 6+, GI+ 6+ , Gl+ 5+8, X", GF
3 6+0, Gl 5+§, x©, GF | 6+©, GI+ 6+©, Gl
30 6+2 , Gl 6+2 , Gl 5+8, x®, GF 6+2 , Gl
32 bal, trf bal, trf bal, trf bal trf
3NT SO SO SO SO
CASEE: Opponent bids 2x or 3x as GHESTEM
N E S W
18 ] 2x ] X =TOhutif followed by X next round now penalty

1  Cuebid of their 1° suit = (4)5+8 GI+

]  Cuebid of their 2° suit = 5+ inthe fourth suit GF+

1 2y =5+y Competitive

1 2nt =Natura G

1 38 =5+§ Competitive

1 3 =6yaCl

1 3w =6w Competitive

1  Jumpcue=(4)5+§ SGL inthe cue-bid suit
N E S W
18 1 3x 1 X =TO

1  Cuebid of their 1° suit = 4+8§ Gl+

]  Cuebid of their 2° suit = 5+ inthe fourth suit GF+

1 3y =6yCompstitive
CASEF: Opponent intervenes with a 3x preempt
N E S W
18 1 3x 1 X =TO

1 3y =5+yFA

1 3t =S80

1 48 =5+§ Competitive

1 4x =5w-5z inthe other two suits GF+

1 4y =6+yweaker than 3y

INTERFERENCE IN 4°POSITION

CASE A : Opponent doubles

N
18 7

E S
P 1 1x

Xz

1

XX =3cadsinx or 16+ HCP hand

Int =18/20HCPba ( canhave 3cardsinx ?)

2§+ =SystemON

CASEB : Opponent bid

N
18 7

E
P 1 1x

s1/2y
S

W
1 vy

X =3cadsinx or 16+ HCP

Int
28+

2nt = Good-Bad

18/20 HCP bal ( canhave 3 cardsinx ?)
System ON

UUU System ON

UUU System ON

33
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CASE C : Opponent bids INT natural or artificial
N E S w
18 7] P 1 Ix 1 Int
X =PDif 1nt is natura , 3x or gtrong if 1nt isconventional
28 + =SystemON

CASED : Opponent jumpsto 2y
N E S

O
8 1 P 1 1x 1 2%
X = Strong hand
2nt = Good-Bad
35+ = SystemON
3y  =4+§ -4x 16+ HCPor 6+8 with 8 tricks St?y
3nt  =SO probably 6+§ solidand Stiny
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1" OPENING

1" ] 10 =4+O5+HCP
1 1@ =4+ 5+HCP
1 1Int =4+8 5/10HCP
1 28 = a4+ 11+ HCPGF+
b) 4+8 10+ HCP
1 2 =4 5/9HCP no4°maor ontheside
1 20 =6+0 3/(7) HCP with decent ©
1 22 =6+ 3/(7) HCP with decent @
1 2nt =6+8 4/7HCP
1 38 =5 bdor UNBAL 7/9 HCP
1 3 =4+ butgenerally5” 0O/5HCPM
1 3© =7+0©4/8HCP
1 3 =7+ 4/8HCP
1 3nt =4 -3-3-3 12/14 HCP with less than 3 controls
1" ] 1©
1 ] 10
12 =4+ -42 11/16 HCP
it =4 -3-33/5 -3-33/5 -48L 11/14HCP
28 = @5 -4+§ 11/21HCP

b) 6+ 17+ HCP

C) 4© bal 18/20 HCP

d) 5+ -40 17+ HCP
2 6+ 11/16 HCP
20 4© 11/14 HCP or 3© with honors and aworthless doubleton
22 =5+ -4 17+ HCP
2nt
38

= 18/20HCPBAL
=5+ -5+8 5-5% losers generally 13/16 HCP
6+ J 13/16 HCP
a) 5 -40 14/16 HCP
b) 4" -4© with SGL @ 14/16 HCP
3 =4 -40-42 -18 18/22HCP
3nt =7 solidwithastoppering and? generaly 8 tricks
48 =6 -40 13/16HCPSGL §
4 =6 -4013/16HCPSGL @

3© =6+0 Y11HCP
3?2 =4+0-42 911 HCP

T ] 1©
12 7] 1nt =Natura 450 59 HCP
1 28 =RELAY aleasinvitationa
1 22 =50
1 20 =6+©7/10HCP
1 22 =4+0-4 7/9HCP
1 2nt =2ntT
1 38 =4hSUIT5+0-4+" GF
1 3 =4+0-4+" 9/11 HCP suit-oriented
1
1



36

1 1 10

] It

28 =5 -42-3+§ 11/14HCP
2" =6 -4 11/14HCP

20 =5 -42-30-1§ 14/16 HCP
22 =6 -42 14/16HCP

2nt =5 -42 -35 15/16 HCP

38 =5 -42-48 15/16 HCP

3 =6 J-4 1316HCP

1©

28 =CHKBCK

2" =CHKBCK

20 =5+0 7/9HCPSO

22 =40-42 10/12HCP

2t =2ntT

38 =40-5+§ 911 HCPLIM
3"  =40-5+" 9/11HCPLIM
30 =6+Owith© J GF

3P =504 SGL?2 GF

3t =80

Int

10

2" =S02+ lessthan9 HCP

20 =5+ lessthan 9 HCP UUUUUUUUUU 22 /2nt/38 /3 /345 /4  =Asover 1" J10]28 12
22 =RELAY F1 J3 =50

2nt  =4+§ SOt03§ lessthan8 HCP UUUUUU 30 =Gl

38 = 4+0-4+§ 9/11HCP

3 =4+0-4+ 9/11HCP

30 =60 911HCP

3® =605 GF

=
1 o b e e e e e ] ] e e e e e e e e e

1 10
25 2
20 =5 -4§-30-1* 1516HCP
22 =5 48 17/19HCPNSt2 or 6+ 18+ HCPGFor 5+ -4§8 19+ HCP GF UU See developments
2nt =5 -48 17/19HCPSt2 UUUUUU 3 =SO (theonly onell)
3§ =5 -5§ 3-4%losars 738 =RELAY UUUUU 3 =6
3 6+ 17/18 HCPLIM
30 =40 18/20 HCPbdl
P =5+ -40 17+ HCP SGL 2
48 =5+ -40 17+ HCP SGL §
17 7 10
2% 1 2
2 ] 2t =Sta® MIN
1 38 =48 MINorMAX
7 3 =NSTa? MIN
7 30 =50MINorMAX
7 3 =NSTa? MAX
J 3t =Sta® MAX
17 1 10
25 ]
2nt =5+ -4+§ 17+ HCPUUUUU 738 =RELAY UUUUU 3 =6
38 =5+ -48 1U16HCP 13 =34 GF J30=30
3 =6+ 17+HCP 730 =60 GF J3* =5 48 72
30 =40 18/20 HCPBAL P =swa 148 =5 58 3-4%losars
P =5+ -4017+HCP SGL 2
48 =5+ -40 17+ HCP SGL §



28
38

=

2nt
38

32

=

1©

22

3" =not Forcing
30 =60 GF
P =5
1©

20 =60 7/9HCP

3© =6+0 10/11 HCP
3P =3+ SGL?

48 =3+ SGL §

4" =RKCB

1©

2nt =4+0,SGL 2, Gl or strong Sl

38 =4+0,SGL §, Gl or strong S|

3 =4+0, SGL " , Gl or strong Sl

3 =M

3P  =5HO SGL @ light S|

3nt  =40-3-3-3 or 4© with no good honors
48 =5+O SGL § light SI

4" =50 SGL “ light SI

1©
28

e e e e el e e ] e e e e e e e e ] e

=30 MINUUUUUUU 7J3 =578

J30=0
J3? =S
3= SO

=30 MAX UUUUUUU 30 =St?§
J3? =52

=40 MIN without SGL

=40 MAX without SGL

1 10

7 2nt =RELAY UUUUUU GAR

1 38 =50-58 7+ HCPGF

7 3 =90

1 30 =6+0 8+HCPGF

1 3 =42 |essthan7 HCP

1 10

1 38 =TEXAS3

1 3 =TEXAS30

7 30 =40-42 GF

1 3? =404 S

1 48 =50Cuebidwith§ S

7 4 =50Cuwebidwith” S

1 10

7 30 =5+07+HCPUUUUUU J3* =20

J 3 =S 7 3nt=0/1©

J Cue= 30

22 =RELAY, 453344 UUU See developments

22 =RELAY,3SF UUUUUUUU 7] 2nt= MAX without 30

2t =ontT 138 =MINwith 30
38 =50-5§8 9/11HCP 73 =MINwithout 30 UUUU 30 =60 GF
3 =M 730 = MAX with 30 J3 =2

739 =MINwith SGL §
J3* =MAX withSGL 2
7 3nt= MAX with SGL §
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1" ] 12
r 7 1
Int =12/14HCPbal /11/14HCP5" -40-1U/22
28 = @ 5+ -4+§ 11/21HCP
b) 6+ 17/21HCP
c) 4* 18/20HCPBAL
d) 5+ -4* 17/21 HCPUNBAL
2 = a 6+ 1V16HCP
b) 5 -4© 15/16 HCP
20 =5+ -4+© 17/21 HCP
22 =4+ -3+% 11/14HCP
2nt =18/20HCPBAL
38 =5+ -5+§ 5-5%losers
3 =6+ J1316HCP
30 =4 -40-42 -18 18/22HCP
¥ =4+ 42 1416 HCP
3t =7+ solidwith stoppersin© and 8
48 =6 -42 13/16HCPSGL §
4 =6 -4 13/16HCPSGL @
r 7 12
It ] 28 =CHKBCK
1 2 =CHKBCK
1 20 =5+*-4+0 nogame
1 22 =5+ 7/9HCP
1 2nt =NtT
1 38 =4*-5+8 9/11HCPLIM
1 3 =4*-5+ 9/11HCPLIM
1 30 =5-4 SGLOGF
1 3* =6+ GF
1 3t =0
r 7 12
28 ] 2 =2+ notforcingUUUU See developmerts
q1 20 =RELAY,ImRRUUUUUUUUU 722 =5+ -4+§8 11/I6HCP
1 22 =5+ notForcing J2nt=5+" -48 17+HCPUUUUUU ]38 =GAR
T 2nt =4+8 SOwithout 3 P38 =5+ -5+8 3-4%losers
1 38 =5%-4+§ 9/11HCP 13 =6+ 17/21HCP
1 3 =5-3+ 9/11HCP 130 =5+" -4+2 17+ HCPSGL ©
1 30 =5 -50911HCP 13 =4+ -42 18/20HCPBAL
1 3 =6+ 911HCP 148 =5+ -4+2 17+ HCPGL §
r 7 1
28 1 2
20 =5+ -48 17/19HCP St?© or 5+  -4§8 19+ HCP GF or 6+ 19+ HCP GF UUU See developmerts
22 =5 -48-3-10 1516 HCP
2nt =5 -48 17/18HCP
38 =5 -58 3-4%losersGF
3 =6 17/18HCP
30 =5+ -4 GLOYS
3P =4+ 47 18/20HCPBAL
3nt = Natura
48 =5+ -42 SGL § S




28

=

=

] e e e e e ] e e e e e

T o e ] e e e e e b ] e e e ] o ] e e ] e e e

16

>

22 =5 MIN

2nt =Sta© MIN

38 =48 MIN or MAX
3 =MIN Ns©

3© =MAXNst©

3P =5 MAX

3t =MAX SO

16

20

2nt  =RELAY GF UUU See GAR
38 =4+§ 911HCP

3 =3+ 9Y1llHCP

30 =St?0
P® =6 GF

739 =St?0

73 =911HCP
12 138 =St?8
20 =RELAY,3SFUUUUU J22 =6 -3 MINUUUUJ2n=RELAY GFUUU 73§ =22
22 =6+ 7/9HCP 7 2nt= M AX without 3* and without 4© 13 =SGL©
2nt  =2ntT 138 =6 -49MIN J39=SGL §
38 =5 -58 9/11HCP 13 =MIN without 32 and without 4©
3 =M J 30 =5+ -40 MAX
30 =5 -50 9/11 HCP J3R =6+ MAX with3?

P =6+ 9Y11HCP
48 =3+ SGL §

16
22 =5+ |essthan 7HCPUUUUUUUUUUUU 7J2nt=NF

2t =RELAY GFUUUUU GAR 138 =978
38 =5%-58 7+HCPGF 13 =NF
3 =80 13 =NF
30 =40 lessthan7 HCP

3® =6+ 8+HCPGF

16

2nt  =RELAY, 453344 UUUUU see developmerts
38 =4+ ,SGL §, Gl or gtrong S|

3 =4+2 ,SGL " , Gl or strong Sl

30 =4+ SGL ©, Gl or strong Sl

¥ =M

3nt = Suggests contract with2 L and outside strength
48 =5+ SGL § light S|

4 =5+ SGL " light Sl

40 =5+ SGL Olight SI

12

2nt
with SGL MIN or MAX UUUUUUU 3 =RELAY UUUUU J30 =MINwith SGL ©
MIN UUUUU 130 = St?§ J3* =MINwith SGL §
J3* =50 7 3= MAX with SGL ©
J3n=S0 J48 =MAX with SGL §

MAX UUUU 3 =578
MIN without SGL
MAX without SGL

39
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r q 1
2t ] 38 =TEXAS 3 UUUUUUU  JPass=42 -4+ wesk
1 3 =5-4+OGF 13 =54 9
q1 30 =TEXAS3 UUUUUUUUUUUU JPass=5 wesk
1 3 =449 J3nt=toplay
1 3nt =Naturd J48 =Cuewith6+* Sl
1 48 =Cuewith5® S 14 =Cuewith6+* S
1 4 =Cuewith5® S 140 = Cuewith6+* Sl
1 49 =Cuewith5® S J14 =6+ 9
r q 1
3 1 30 =5 GFUUUUUUUU]3 =2
1 3 =320 J3nt=0/12
148/ =CueBidwith 3@
1" ] 1nt
T 7 1t
28 =RELAY, MCHK, not absolutely GF
27 =6+ SO

20 =5+ -4+0 17+ HCP

22 =5+ -4+ 17 +HCP

2nt  =Preempt§ or” or 18/20 HCP bal lacking a stop JUU Choose your better minor
38 =5 -58 55% losers

3 =6+ J 13/16 HCP

30 =6 -50 3/4losers

F =6 -5 34losers

1" ] 1int
28 1 2 =MINUUUUUUUUU J20 =RELAY UUUUSe MAX
1 20 =548 MINor MAX UUUUUU]22 =RELAY UUUUU J2rt=MIN
J 22 =4 -333MAX 138 =MAX
1 2nt =48-3-3-3MAX 13 =MAX without stoppers
1 38 =48-4° MAX J3© =MAX with3" and X?©
13* =MAXwith3" and ?2
1" ] 28
3 28
2 = a) 12/14, BAL
b) 4-4-4-1, 12/16 HCP
) 6+ ,11-15

d) 5+ -4+§, 11/21

J 2nt= RELAY with 40 UUUU GAR

138 =6+ Gl
J3 =3+ Gl
22 =5+ 4+ 11+ HCPUUUUU TJ2n= RELAY UUUU GAR
138 =6+ Gl
J3 =3+ Gl

2t =1820HCPba UUUUU ]38 =RELAY UUUU Seel” J28 ]2 J2o] 2t
38 =6+ 16+HCPwith SGL

3 =6+ 16+ HCPwithout SGL and without 38

30 =6+ 16+HCPwith38 S?©

3P =6+ 16+HCPwith38§ 3?2

3nt  =4-4-4-18 17/19HCP

Cue =4-4-4-18 20/22 HCP
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1 28
22 1 2© =RELAY GF+
1 22 =5+§ GF or 5Sm-4om GF+
T 2nt =10/12HCPLimtUUUUUUUUUUU 738 =5 -48 passor correct
1 3% =68 911HCP 13 =6 SO
1 3 =4+ Limit J30©=st?0©
1 30 =5+8-40SGL?2 notd qJ3F =st?a
1 3 =5+8-# SGLOnotS 1 3nt= Natural SO
1 28
22 1 20
22 =5+ -4+§ 11+ HCPUUUUUU GAR
2nt  =ha 12/14 HCPUUUUUUUUUUUUUUU J138=RELAY UUU 13 =38 UUUUU ]30=58-40
38 =6+ 1115HCPwith SGL 13 =st?” 13©=4" -40-32 -2§ P33 =58-42
3" =6+ 11/15HCPwithout SGL and without 38§ J3© =570 A3F =4 -42-30-28 J3NT=9
30 =6+ 11/15HCPwith3§ S?© qJ3# =972 A3NT=5"-3-3-28 148 =9
3 =6+ 11/15HCPwith3§ St?2
3nt  =4-4-4-18 12/15HCP
1 28
22 ]
2NT =RELAY UUUUUUUUUUUUU 138 =6+8 withaSGL GF+
38 =5+ -48 16+ HCP 13 =5+m-4+om GF+ SGL or at least weak inone M
3 =6+ SGLS§ A3M =5+8 S?M generally xxinM
30 =5+ -4+§ SGL © 11/15HCP
3@ =5+ -44§ SGL 2@ 1V15HCP
3nt =5 probably SGL § stoppersinboth Majors
1" ] >
r 1 2z
22 =5+ 42 17/21HCP
2nt =18/20HCPBAL
38 =5 -58 4/5losers
3 =M
30 =6 -503-4%losers
¥ =6 -5 3-4%losers
4nt =M Choose your longer minor
5 =M
20 =RELAY UUUUU ] 22 =40 or 42 47HCP (7?2 denies4M!!)
J2nt=68-3" 4/7 HCP
138 =4+ MAX butif with5" isBAL
13 =4+ MINbutifwith5 is BAL
J3©=4" SGL © MAX
I3F =4 SGL 2 MAX
1" ] 20
I 1 20
28 =5+ -42 17+ HCP or perhaps only valuesin?
2nt =15+ HCPwith at least 2© used perhaps as Gl
38 =5+ -4+48 17+ HCPor perhapsonly valuesin §
3" =6+ 16/18 HCPnot forcing
30 =3+0M
¥ =6 -5 notforcing
3t =0
40 =80
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I 1 20
2t J 38 =MAXwithout SGL with2 UUUUUUU 7J3 =RELAY UUU 30 =MAX without SGL
1 3 =MINUUUUUU 7J30=50 IF =sGL~
1 3© =Mano mediawithout SGL J3nt=SGL §
1 3# =60MAXwithSGL?
T 3t =AKQxxx
1" ] 22
r q =22
2nt =15+ HCPwith at least 22 used perhapsasa Gl
38 =5+ -4+48 17+ HCPor perhapsonly valuesin §
3" =6+ 16/18 HCPnot forcing
3© =5+ -40 17+ HCP or perhaps only valuesin©
¥ =3+ M
3t =0
42 =380
r q =22
2t § 38 =MAXwithout SGL with© UUUUUUU J3 =RELAY UUUJ30=SGL "
1 3 =MINUUUUUU 7J3* =0 13 =MAX without SGL
1 3© =MAXwithSGL © JA3nt=SGL §
1 # =Mediumhand without SGL
T 3t =AKQxxx
1" ] ont
I 1 o2t
¥ =50
3" =SOweplay better in”
3 =S?0
¥ =5
48 =M
40 =6 -503/4%:losers
42 =6 -5 3/4%losers
4nt = Choose your longer minor
58 =M
1" 1 38
1 38
3 =50
3© =St?© or advance Cue Bid with FITin™ generally SGL
3P =St?2 or advance CueBidwith FITin™ generally SGL
3nt = Natura
48  =CueBid S generally SGL
=M

=6 -50 3/4%:losers
=6 -5% 3/4%losers




INTERFERENCE OVER 1" OPENING
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INTERFERENCE IN 22POSITION

CASE A : Opponent doubles

N E S w
I 7 X J XX =4+0
1 10 =442
1 1* =7/10HCP adapted or BAL GI+
1 INT =548
1 28 =4+ SOorGF
1 2 =(56+0
1 20 =(56+

CASEB : Opponent overcalls 1/2 of asuit cheaply

N E S

w

" ] V2x ] X =4+ywherey=x+1

1 1 =810HCPba or bal Gl+
1 1t =5+8
1 28 =4+ Weskor GF+
1 2 =5+
1 2x =50M-5m(generaly§ )8+HCP
1 2w =6+twGF+
1 2y =6y3/7THCP
1 2t =6+8 GI+
1 3x1 =5+ SGLxGF+
1 38 =6+ G+
1 3 =6+0CI+
1 3© =6+ GI+
1 3 =Wantsyouto play 3nt
1 3t =S0
Exception :
N E S W
I 7 1 7] X =40 8+HCPorba GF+
1 1Int =7/10HCPBA
1 28 =4+ Competitive or GF+
1 2 =5+0
1 20 =4+ ¢l
1 22 =50-58 Gl+
1 2t =6+8 GI+
1 38 =6+ G+
1 3 =6+0 Gl+

CASE C : Opponent bids 1nt Natural

N E S

w

' 71 1t J X =PD
1 2x+ =Rubensohl ON

CASED : Opponent jumps to 2x
N E S

showing a one-suited hand, any strength
W

I 1 2x 1 X =TO
1 2y+ =Rubensohl ON



1" opening
(1©) 1) (IN) (28) (29)

X 4+2 40 8+ orba GF | Pen 4+ ,wor GF TO
18 8/10 bal or 11+
INT 548 7/10, bal
28 4+ weak or GF | 4+ ,weak or GF | 4+ , weak
2 4+, 9-12 5+© 5+O 4+©
20 52 -5§ , 8+ 4+, 9/12 5+2 4+2
22 6+2 , GF 50-5§8 , 8+ 5+§ bal, 10/12, 5+ F1
2NT 6+§, Gl+ 6+§, Gl+ 64§, Gl+ 64§, Gl
38 5", weak 5+" , weak 5+, Gl 5+, Gl
3 5+, x©, GF 6+0, Gl+ 6+0O, Gl 5+, x©, GF
30 6+, Gl 5+" ,x2, GF 6+, Gl 6+2 , Gl
3R bal, trf bal, trf bal trf bal, trf
3NT SO SO SO SO
CASEE: Opponent bids 2x or 3x as GHESTEM
N E S w
" 71 2x ] X =TOhutif followed by X the next round now is penalty

1  Cuebid of their 1° suit =4+" Gl+

1  Cuebid of their 2° suit =5+ in the other two suits G+

1 2y =5+y Competitive

1 2nt = Naturd invitational

1 3 =4+ Competitive

1 3y =e6yaGl

1 3w =6w Competitive

1 Jumpcue=(4)5+ SGL inthesuit cue-bid

1 3t =30
N E S w
r 1 3x 1 X =TO

1 Cuehbidof ther 1° suit =4+" Gl+

1  Cuehid of their 2° suit = 5+ in the other two suits GF+

1 3y =6yCompstitive
CASEF: Opponents preempts 3x
N E S w
r 1 3x 1 X =TO

1 3y =5#yFl

1 3t =30

1 4 =5+ Competitive

1 4x =5w-5zintheremaining suits GF+

1 4y =6+y weskerthan3y

INTERFERENCE IN 4°POSITION

CASE A : Opponent doubles

N E S

r 37 P 1 x 1
XX =3cadsinx or 16+ HCP hand

Int =18/20HCPbal ( canhave 3 cardsinx ) UUUU System ON
28+ =SystenON

Xz

CASEB : Opponent bids 1/2y
N E S W

r 31 P 1 x 1 YV

X =3cadsinx or 16+ HCP

Int =18/20HCPbal ( canhave 3 cardsinx ) UUUU System ON
28+ =SystenON

2nt = Good-Bad

CASE C : Opponent bids 1nt natural or conventional
N E S W
r 37 P 71 xx 1 1Int

CASED : Opponent jumpsto 2y
N E S W




1
X
2nt

1 P 1 x 1 %
= Strong hand
= Good-Bad

35+ =SystemON

3y
3nt

=4+ -4Ax 16+ HCPor 6+ with 8 tricks St?y
= SO probably 6+ solid and Stiny

45
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1© OPENIN

1© | 12 =4+2 5+HCP

1 1Int =5/12 HCP with maximum 20

1 28 = a RELAY GFgenerdly with4+8§

b) 6+8 9/11HCP
1 22 = & 5+ GF
b) 3/4© 3/7HCP

1 20 =3/40© 8/10 HCP if with 40 then MAX and 4©-3-3-3

1 22 =6+ GF

1 2nt =4+0 GF+

1 38 =3+0Gl

1 3 =4+0©6/9UNBAL

1 3© =4905HCPM

q1 32 =M

1 3nt =4+© GF+void?

1 48 =4+O GF+void§

1 4 =4+© GF+void”

1 4© =5905HCPM

10 ] 12

© 1 1=
Int =509-3-3-212/14HCPor 50-48 /" with stop in4° suit
28 = @ Natural 50-3+§ 11/21 HCP

b) All hands with 17+ HCP
2 =5+0-3+" 11/16 HCP
20 =6+0 11J/14HCP
22 =50-42 11/14HCP
2nt = 6+0-4 any; hands with 4/5 losers UUU See 10 1nt ] 2t
38 =5+0-5+§ 13/15 HCP if very UNBAL perhaps less points, nevertheless aways5-5 %2 losers
3 5+0©-5+" 13/15HCP if very UNBAL perhaps less points, nevertheless always 5-5 %2 losers
3© 6+0 14/16 HCP
50-42 14/16 HCP UNBAL
48 =60-42 SGL § 13/16 HCP
4 =60-42 SGL " 13/16 HCP

@
n

30 =5+2-3+0 GF
3 =6+ withgood? but not great, GF
3t =30

1© ] 1
it ] 2§ =CHKBCK1
7 2 =CHKBCK2
7 20 =50
7 22 =5+ 49HCP
7 2t =2nT
J 38 =42 -5+¢8 911 HCPGI
7 3 =425+ 911HCPGI
1
1
1




1©
28

1©
28

2nt
38

3nt

1©
28

1©
28
2nt

1©

1©

e el e e e e e e

12
>
20
22
2nt
38
3
30
3

12
a

47

= 1IMRR, (7)8+ HCP if partner shows areverse then we are GF

=2/39 SO

=5/62 short © SO
=5+ SOshort©
=5+§ SOshort ©
=52 -5 8/10HCP
=4+ -30 9/11 HCP
=6* 911HCP

=5+0-3+* 17+ HCPUUUUUUUU 7] 2nt=RELAY UUUUUUU ]38 =50-48-32 -1" 17+HCP
=50-3-3-2 16/17 HCP bal UUU See developmernts
=5+0-4+8 17+ HCPwithout 32

=5+0-4+" 17+ HCPwithout 32

= 6+0 17+ HCPwithout 32

=50-3-3-22 18/20 HCPBAL

e e e e e e e ] e e ] ] e e e e e e e e e e e

12
>
22
2nt
38
3
30
3
12
>
38

3
30
3

12
20
22
2nt
38

30
36
am

12

2nt

8w

4am

=4+ RELAY GFUUUUUU 7J2nt=50-3-3-2

= Natural Gl ]38 =54
=30 13 =64

= GFSt?" J30=55SGL 2
= J3? =50-3
=6 GF J3nt=

=RELAY UUUUUUUUUUJUUJUU ]33 =~

=42 5+ 7/10 HCP GF
=42 -5+§ 7/10 HCP GF
=6+ GF

=0
=5+ SO
=Gl

J3o =58
I =38
J3nt=St§ and”

73 =50-4 -3 -1§ 17+HCP
730 =60-3 17+HCP

P =50-42 -2-2 17+ HCP

7 3nt= 50-3? -3-2 17/20 HCPBAL
J48 =50-42 SGL § SI

J4 =50-42 SGL~ SI

=RELAY GFUUU 73 =Bidwithrodubstopor5 UU 30 =RELAY UUU]3* =NSt§

=Gl 730 =604
=Gl @ =3
=6 Gl J3n=St§
= 3+0 SGL mS|

=5+ Gl+

=42 Gl

= GF perhaps without a 4° suit
= GF perhaps without a4° suit
=Gl

=6+ Gl

=3+0 SGL mSl

I =6 J3nt=5
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22 =4+ 8/11HCP

l© J 18
2 ] 2NT =RELAY UU 7]38=4 withSGL MINor MAX U3 =RELAYUU 7]39 =MIN with SGL ~
13 =3 MINUUUUU 130 =St7a8§ 13 =MINwithSGL §
q3# =0 A3NT=MAX with SGL ~
A3NT=S0 148 =MAX withSGL §
730 =3* MAX UUUUUUU I3 =78
13 =42 MIN without SGL
13SA=4* MAX without SGL
1 38 =4+ SGL§ Gl
1 3 =4+ SGL” Gl
1 4m =5+ SGLmS
l© ] 18
2t J 38 =RELAYGFUUUUUUUU 73 =60-4
1 3 =5+ -4 90 130 =604
1 3© =50 13 =60-48
1 3# =6+ 50
1© ]| 1nt
1© 7 1Int
28 = a) 50-3+§ 11/16 HCP
b) 5+© 17+ HCP any distribution without 42
2" =5+0-4+ 11/16 HCP
20 =6+0 11/14HCP
22 =50-4+2 17/20HCP
2nt = 6+0-4 any hand with 4/5 losers but not more than (19)20 HCP
38 =50-5+8 13/15HCPIf very UNBAL perhapsless points, nevertheless always5-5%2 losers
3" =50-5+" 13/15HCPif very UNBAL perhapsless points, nevertheless always5-5%2 losers
30 =6+0 14/16 HCP
3P =60-5* 4/5losersnot so many points
48 =60-58 11/14HCP
4 =60-5 11/14HCP
4© =7+0O too strong for a preempt, generally 5 losers
1© 7 1Int
28 ] 2 =1MRR, (7)8+HCPif partner hasareverse then we are GF
1 20 =20930
1 22 =Atleast 54 minors SO short ©
1 2nt =5+ SOshort©
J 38 =5+8 SOcanhave20
1 3 =6 810HCP
1 3© =5+§ 8/10HCPSGL ©
1 3 =5+8 §10HCPSGL 2
1© 7 1Int
28 1 2
20 =5+0-3+§ 11/16 HCPUUUUUUUU ] 22 = 4+§ 911 HCP
22 =50-58/" 17+HCP 1 2nt=9/11 HCPBAL
2nt =50-3-3-216/17HCPBAL 138 =58 7/8HCP
38 =5+0-48 17+ HCP 13 =6 7/8HCP
3" =5+0-4" 17+ HCP
30 =6+0 17+HCP
3nt =50-3-3-218/20HCPBAL
1© 7 1Int
28 1 2
2 ] 2nt =RELAY UUUUU 738§ =5+0-5+§ 17+ HCP
13 =5+0-5+" 17+ HCP
1© 7 1Int
22 1 20 =200
1
1

2nt  =9/11HCPBAL
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1 38 =6+8 58HCPshort©
7 3 =5+ 58HCP
1 3 =5+ 8/10HCPSGL
1 3nt =5+ 810HCPSGL ©
1© 1 1nt
20 ] 2 =55 SGLO
1 2nt  =10/11 HCPwith /20
1 38 =6+8 58HCPSGL ©
1 3 =6+ 5B8HCPSGL ©
1 3© =20 withanhonor 9/11 HCP
1© 1 1nt
2t ] 38 =RELAY GFUUUUUUUU 73 =60-42
7 3 =6+ 0O 730 =60-4
7 30 =0 I3 =60-48
107 25
© 1 25
2" =1115HCPwithout 424 UUUUUU 730 = 39 withan honor, 5+§ J S|
20 =5+0-4+2 11/21 HCP UUUUUU See developmerts
22 =5+0-4+ 16/21HCP UUUUUU seeMIN
2t =5+0 16/21 HCPUUUUUU see MIN
3 =50-48 16/21HCP UUUUUU 13 = Asking SGL amost aways agrees §
139 = Fixes© and asking for high trump honors
13* =Fixes© and asking SGL
3" =60-48 16/21HCPUUUUU 30 = Fixes© and asking for high trump honors
13* =Fixes© and asking SGL
745 =Fixess Sl
30 =50-58 SGL a® 16/21HCP
3P =50-58 SGL a” 16/21HCP
3nt =50-48-4" 16/21 HCP
© 1 25
2 1 20 =RELAY S
1 22 =RELAY GF
7 2t =6+§ GF+
7 38 =68 9YI1HCP
7 3 =68-4 motS
© 1 25
2 ] 20
2 =5K0-4+ 1U15HCPUUUUUUU ] 2n= GAR
2 =5+0 1/15HCPUUUUU ]38 =RELAY fixeso UUU 3 =6+0 with SGL U] 30 = Asking SGL
J3 =545 S 7 30 = 6+0 without SGL
730 = Fixes© I =503
3  =50-48 1/15HCPUUUU GAR J3nt=50L
3 = 60-4§ 11/15HCPUUU GAR
39 =50-58 11/15HCP SGL with?
3 =50-58 11/15HCP SGL with”
3nt =50-48-4" 11/15 HCP
1© 28
20 22 =RELAY nearly acetain FIT in© UU See developments

2nt =RELAY fixes?
38 =6+8 911HCP
3 =6+§ GF+

] e e e
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1© ] 28
20 1 =
2t =60-52 or5-4-4UUUUUT]38 =RELAY UU 3 =544MINUUUU 739 =RELAY UUUU see MAX
3% =54 130 =60-5°
3 =64 13 =544VOID~
30 =54SGL" 16+HCP 13nt=5-4-4VOID §
1© ] 2
1© 2
20 =11/14HCP possibly perhaps 42
22 =5+0-4+2 16/21 HCP
2nt =50 16/21 HCP
38 =5+0-4+§ 16/21 HCP
3" =5+0-4+" 16/21 HCP
30 =6+0 16/21 HCP
3P =60-52 4/5losers
°© 1 2
20 ] 22 =5+ -4 GF
2t =RELAY UUUU GAR
38 =5+0 378§
3" =5+0-3+ 11/15HCP
30 =6+0 very J 11/15HCP
°© 1 2
20 ] 2nt =5+ GF+ UUUUU Cortinuations natural
1 38 =5+ -4+8 GF
1 3 =6+ 911HCP
1 3© =30 withanhonor with5+" J Sl
°© 1 2
2 771 2nt =GAR
1 38 =4°ait(5 12+HCP)
1 3 =6+ GF
1 3© =50
1 3 =5+ -8 GF
1 48 =CueBidwithHATO
1 4 =CueBidwithFITO
1 4© =50
°© 1 2
2nt ] 38 =5+ -(3)4+§ GF or somevaluesin §
1 3 =5+ GF
1 3© =50
1 3* =6 -5 GF
1 3nt =5 -3-3-20 MIN
1 4 =6 -58GF
1 4© =350
1© 1 20
22 = Asking inwhich suit responder would accept a Gl in opener’s suit
2nt =SGL?
38 =SCGL§
3 =SCGL-
3© = Asking for good trumps for game
¥ =605 S
3nt = choice of games
48 =5+0-5+§ Sl
4 =5+0-5+" 9
1© 1 20
2 7] 2nt =Acceptingifitis?




51

1 38 =Acceptingifitis§ but notif itis?
1 3 =Acceptingifitis™ butnotifitis® or§
1 39 =nogameever
1 3t =choiceof games
1© ]| 2nt
1© ] 2t
38 =ExtraaUUUUUU ]3 =RELAY SIUUUU 30 =noSGL UUU 3 =1 dont have a SGL either
J3* =scL? J3nt=SGL 2
qA3nt=SGL "~ 148 =SGL ™
148 =SGL § J4 =SGL§
130 =GFlimited UUUU J3 =RELAY asking SGL UUU 7 3nt = No SGL
13 =5+ GF+ 148 =sGL @
13nt=5+" GF+ 14 =sGL”
48 =5+8 GF+ 140 =5GL §
3 =MINUUUUUUUUU J30 =RELAY S UUUUUUUUU J3* =NoSGL
13* =5+© GF+ J3nt=SGL 2
A3nt=5+" GF+ 148 =SGL~
148 =5+8 GF+ 14 =sSGL§
3© =448 normally 6-4 or 5-5
¥ =4+ normaly 6-4 or 55
3nt =4+ normally 6-4 or 5-5
4x  =VOID inx
1© ] 38
1© ] 3B
3" =AskingMAX or 4©
3® =350
¥ =sGL@ 9
3nt =Slbd
4m =SGL mS
1© ] 3
°© 1 3
3® =350
3  =RELAY askingSGL UUUUU Normal method of steps
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INTERFERENCE OVER 1© OPENING

INTERFERENCE IN 22POSITION

CASE A : Opponent doubles

N E S W
1© J X T XX =4+

1 1 =8/10BAL or BAL GI+

1 1t =5+8

1 28 =5+

1 2 =340 8/10HCP

1 2© =3037THCP

1 22 =6+ GF+

1 2t =4+OGF+

1 38 =3+00Gl

1 3 =4+©6/9HCPUNBAL

1 3© =40 04HCPM

1 3 =4+010/13HCPUNBAL

1 3t =goodraiseto4© UNBAL
CASEB : Opponent bids 2x
N E S w
1© 71 2x J X =TOor5+ GF+

1 2y =5typassable

1 2nt =5+8 9+HCPGI+

1 38 =5+ 9+HCPGI+

1 3 =4+0CI+

1 3x1 =30Gl+

1 30 =M

1 3* =6+ Cl

1 3t =2natura stops, amost alwaysa SGL ©
CASE C : Opponert bids 38 +
N E S W
1© 1 3m+ T 3x =5+xGF+

1 48 =3+O GF+ without cue bid intheir suit
1 4  =3+0 GF+ with acontrol intheir suit

CASED : Opponent bids 12
N E S w
1© ] 1 7] X  =8+HCPperhapshavinga7/10 HCP hand whichwould have replied INT

1 1t =5+8

1 28 =5+

1 2 =30810HCP

1 2© =3/40 37HCP

1 22 =58-5 GI+

1 2nt+ = Aswithout interference
1© opening

1) (AN) (25) @) (2%)

X 8+, BAL penalty neg or 5+2 , GF neg or 5+ GF TO
INT 5+
2 5+ 5+
2 30, 8/10 30, 8/10 5+, 911
20 3/40, 3/7 3/40, 3/7 3/40, 3/9 3/40, 3/9
22 55-5" , Gl+ 6+2 , wesk 5+, 9-11 5+, 911
2NT 12+, 40 30, Gl+ 5+§, Gl+ 5+5, Gl+
3 3+0, Gl 5+, Gl+ 30, Gl+ 5+, Gl+
3 4+0, 6/9, sin 4+0, Gl+ 440, Gl+ 440, GI+
30 40, 0/5 40, 0/5 40, 0/5 40, 0/5
3? 4+© 10/13sin 6+ , Gl 6+, Gl 40, siré
3NT SO SO SO SO




53

INTERFERENCE IN 4°POSITION

CASEA : Opponent bids 2x over 12
N E S W
© 31 P 1 1 7 2
X =3cadsin? or 16+HCP

2nt = Good-Bad

3x =5+0-4 GF+

3w+ = System ON

CASEB: Opponent bids 2x over 1nt

N E S O

© 31 P 1 It J 2
X = Strong generally BAL

2x+1 = System ON

2nt = Good-Bad

3x  =6+O 8tricks t?x

N E S W

© 31 P 71 Imt I 2

P 1 P 1 X =PDifcanhavethesuit (ifx=8/" X=PD;ifx=2 X=TO)
CASEC: Opponent doubles

N E S

Xz

1© 7] P 1 U |
XX =3cadswith? or 16+ HCP
Int =16/18HCPBAL

28 + =SystemON

CASED : Opponent preempts 3+x

N E S w
© 31 P 1 /1] 33X
X = Strong, generally amisfit

CASE E : Opporent bids 3x over our FIT
N E S W
© 31 P 1 2nt J 3
P = Nothing to say, or trap-pass

X =SGL x
3© =UltraMIN
3t =60 GF+
4x =SGL xS

4© = Not too strong, average, no desire to penalize
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12 OPENIN

12 ] 1Int =5/12HCP
1 25 = a)3+§ GF+
b) 6+8 9/11 HCP
1 20 = g5+t0 10+ HCP
b) 6+© 8/10 HCP
1 20 = g5+ GF+
b) 3/42 3/7 HCP
c) 6+° 9/11 HCP
1 22 =3/42 810 HCP no SGL
1 2nt =4+ GF
1 38 =3+ Gl
1 3 =4+ 6/9HCP UNBAL
] 3© =70 M
1 3 =42 0/5HCPM
1 3nt=4+2 GF+VOID ©
1 48 =4+* GF+VOID§
1 4 =4+ GF+VOID™
1 4© =Goodraiseto4® with defensivevaluesin ©
1 4 =5 0/5HCPM
12 ] 1nt
2 ] 1Int
28 = @5+ -3+§ 1121 HCP
b) 5+2 17+ HCP
2" =5+ -3+ 1116 HCP
20 =5+ -4+0 11/14 HCP
22 =6+ 11/14HCP
2nt =6+ -4 some hand with 4/5 losers,, but not more than (19)20 HCPUUU See developmerts
38 =5%-5+8 13/15HCPIf very UNBAL perhaps less points, nevertheless always 5-5 % losers
3" =52-5+" 13/15HCPif very UNBAL perhaps less points, nevertheless always 5-5 % losers
3© =5 -5+0 13/15HCPIif very UNBAL perhaps less points, nevertheless always 5-5 % losers
3? =6+ 1416 HCP
48 =6°-58 11/14HCP
4 =62-5 11/14HCP
40 =67-50 11/14HCP
42 =7+ tostrong for a preempt, generally 5 losers
2 ] Int
28 1 2 =1MRR (78+HCPUUUUUUUU 720 =5 -4+§ 15/16 HCP
1 20 =5059HCP J22 =52 -3+§ 11/14HCP
1 22 =220 J2nt=5* -3-3-2 16/17 HCPBIL
1 2nt =5+ SOSGL? possibly 48 138 =5+ -4+§ 17+ HCPUU] 3 =GAR
1 38 =5+§ SOpossibly 4 13 =5+ -4+ 17+ HCP
1 3 =6 810HCP 130 =542 -4+O 17+ HCP
1 3© =5+8 810HCPSGL © 13* =6+ 17+HCP
1 3# =5+§ 8/10HCPSGL @ 1 3nt=5* -3-3-2 18/20 HCP
2 ] Int
28 1 2
20 ] = Se
1 2nt =aGl
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2 ] 1t
22 ] 20 =5059HCP
1 22 =230
1 2nt =1011HCPBAL
1 38 =6+8 47HCP SO dmost definitely a SGL 2
1 3 =4+ 911HCP
1 39 =5+ 911HCPSGL ©
1 3 =5+ 911HCPSGL?
1 3t =5+ 9Y11HCPSGL §
2 ] 1t
20 ] 22 =220
1 2nt =911HCPba
1 38 =6+8 4/7HCP SO amost definitely SGL @
1 3 =6+ 47HCPSOamostforsureaSGL 2
1 3© =4+0©8/10HCP
1 4© =Wastoowesk for direct response 20
2 ] 1t
2t § 38 =RELAYGFUUUUUUUU 73 =6-40
1 3 =6+ SO J3® =624
1 3 =50 13 =62-48
12 ] 28§
@ ] 28
2" =11/15HCPwithout 20UUUUUUU 3 =32 withanhonor with5+§ J Sl
20 =5+ -4+0 11/21 HCP
2 =5+ 4+ 16/21 HCPUUUUUUUU JSeeMIN
2nt =5+ 1621 HCPUUUUUUUUUU JSeeMIN
38 =5%-48 16/21HCP
3" =6°-48 16/21HCP
30 =5%-58 16/21HCPSGL ©
P =52-58 16/21HCPSGL -
3t =5%-4" -48 16/21 HCP
@ ] 28
22 1 20 =RELAYS
1 22 =RELAY GFbutnot Sl
1 2nt =6+§8 GF+
1 38 =6+§ 911HCP
1 3 =68-4 notsl
@ ] 28
221 20
22 =5+ 4+ 11/15HCP UUUUUUU 7 2nt=RELAYUUUU GAR
138 =648 S
2nt =5+ 11/15HCPUUUUUUUU 138 =RELAY UUUUU 7J3 =6+ withSGL UU 730 = Asking
38 =5-48 1UV14HCPUUUU GAR 130 =6+ without SGL
3"  =6*-48 1V14HCPUUU GAR J3* =52-332witha J
3© =5%-58 11/14HCPSGL © J3nt=5% -3-3-2with® L
P  =52-58 11/14HCPSGL -
3t =5%-48-4" 11/15HCP
12 28
20 2 =RELAY UUUU GAR

2nt  =RELAY fixesoUUUU GAR
38 =6+§ YI1HCP
3 =684

] e e e




56

12 ] >
.
20 =10/13HCPwith 2/4© not seeing game if hasaMIN
22 =5+ MIN and short©
2nt = GF ( al the other hands withreverse) 15+ HCP 2+©
38 =5+ -4+§ 16/21 HCP without 20
3" =5+ -4+ 16/21 HCP without 20
30 =3/40 1¥J15HCPif 40 then5-4-2-2
3P =6+ 16/20 HCP without 2© GF+
3nt =5%-4+0© 11/13HCP SGL ~
48 =57 -4+© 11/13HCPSGL §
4 =5-501114HCPSGL -
40 =5%-5011/14HCPSGL §
.
20 ] 22 =5+0-48 GF+or5+0-32 S
1 2nt =500
1 3% =5+0-4 GH
1 3 =6+O Gl orSl generally BAL
1 30 =50-58 GF+
1 3 =505 GF+
1 3nt =Naturd SO50-3-3-22 13/15HCP
1 4m =6+©SGLmS
1 40 =6+©S0
1 4#& =50
.
2 71 2t =5+00Gl
1 38 =50-4+§ GF+ or valuesand 16+ HCP
1 3 =504+ GF+
1 30 =6+©GF
1 3* =5+©-3 GH
1 3nt =Naturd
. Z
2nt ] 38 =50UNBAL 10+ HCPor 50-3-3-22 14+ HCP
1 3 =6057HCPor12+HCP
1 30 =60811HCPba or SGL 2
1 3* =5+0-3 9
1 3t =50-3-3-22 10/14HCP
1 48 =6+©0811HCPSGL §
1 4 =6+0811HCPSGL"
. Z
nt ] 38
3°  =RELAY UUUUUUUUUUUU 30 =504
30 =5+ -3+O GF 13 =50-48
3P =6+ 17/21HCP 1 3nt=50-3-3-22 14/16 HCP
4m =5+ -4+© 15+ HCPSGL m 14m=50-5m
18 2
38 3" =5+0 8+HCPGF+
30 =6+0 GF

3P  =5+0-32 GF
3nt =5+0 10/14HCP S~
48 =5+0-4+§ GF+

] e e e e
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] 2
33 1 3 =30
1 3 =5+0-3 GF
1 3t =5+010/14HCP
1 48 =5+O natural or 4° suit
1 4 =5+0-4+" GF+
] 2
3 ] 3# =5+OtwotophonorsSl
1 3t =CueBid? without 2 top honors
1 48 =Fixes© and CueBidag
1 4  =Naturd with5+" or fixes© and CueBid”
] 2
3 ] 3nt =Natura
1 48 =CueBidwithFIT?2
1 4 =CueBidwithFIT?2
12 ] 20
2 ] 20
22 =11/16 any distribution
2nt =5+ 17/20HCP
38 =5+ -4+§ 16/21 HCP
3" =5+ -4+ 16/21 HCP
30 =5+ -4+0 16/21 HCP
F =6+ 16/19HCP
3nt  =5°-3-30-2(18)19/20 HCP
2 ] 20
2 7 2nt =5+ GF+
1 38 =5+ -4+0GF
1 3 =6+ 911HCP
1 3© =5 -58 GF
1 3 =35+ 9
1 3t =5 -3-3-22 notSl
1 48 =6 -58
1 4 =6 -50
@ ] 20
2nt ] 38 =5+ -4+8 GF
1 3 =5+ GF
1 30 =5+ -40GF
1 3 =50
1 3t =S05 -3322
1 48 =6 -58
1 4 =6 -50
1 4 =30
2 ] 20
38 1 3 =5+4d
1 30 =4 SutGF
1 3 =50
1 3nt =Naturd
1 48 =5+ -448 9
1 4 =Fixes® and CueBid”
2 ] 20
3 ] 39 =Vauesin© with5+
1 @
1
1

=30
48 =Fixes* and Cuebid§
4 =5+0-4+ S
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12 | 22
12 22
2nt = Asking in which suit responder would accept aninvitation to game
38 =SCGLS§
3 =sG6L”
3® =SGLO
32 = Asking for good trumps for game
7 22
2nt ] 38 =Accepting if you have §
1 3 =Accepting if youhave™ but not if you have 8
1 3© =Accepting if youhave© but not if you have§ or”
1 3 =nogame
1 3t =Choiceof games
12 ] 2nt
18 2nt
38 =ExtraUUUUUU 3 =RELAY SIUUUU J30 =no SGL UUU ] 3* =no SGL either
13 =SCGL© J3nt=SGL ©
qA3nt=SGL "~ 448 =SGL ™
148 =SGL § J4 =SGL§
130 =GFlimited UUUU J3 =RELAY asking SGL UUU 7 3nt = No SGL
13 =5+© GF+ 148 =SGLO
13nt=5+" GF+ J4 =sGL”
148 =5+§ GF+ J4© =SGL §
3 =MINUUUUUUUUU J30 =RELAY S UUUUUUUUU J3* =NoSGL
13 =5+© GF+ J3nt=SGL ©
A3nt=5+" GF+ 148 =SGL~
148 =5+§ GF+ 14 =sSGL§
30 =4+§ normamente 6-4 or 5-5
32 =4+ normamente 6-4 or 5-5
3nt = 4+© normamente 6-4 or 5-5
4x  =VOID inx
12 ] 38
@ ] 38
3" =AskingMAX or 42
3 =SGLoS
¥ =30
3nt =SIBAL
4m =SGL mS
1@ 1 3
7 3
¥ =30
30 =RELAY askingSGL UUUUU Normal method of steps
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59

INTERFERENCE IN 22POSITION

CASE A : Opponent doubles

N E S W
] X 1 XX =10+HCPba forcing to a least 2nt
1 1t =5+8
1 28 =5+
1 2 =5+
1 2© =3/4% 8/10HCP
1 22 =3/42 37HCP
1 2t =4+ GF
1 38 =3+ al
1 3 =4+ 6/9HCPUNBAL
1 30 =4+ 10/13HCPUNBAL
1 3# =42 0/4HCPM
1 3nt =Goodraiseto4?
CASEB : Opponent bids 2x
N E S W
12 ] 2x ] 2y =5t+ypassable
1 2t =5+8 9+HCPGI+
1 38 =5+ 9+HCPGI+
1 3 =((5B6+oacl+
1 31 =3 Gl+
1 30 =4+ GI+
1 *# =4#&M
1 3t =Toplay

CASE C : Opponent bids 3mr+
N E S W
2 ] 3m+ ] 3 =5+xGF+

1 48 =3+ GF+ without control intheir suit

1 4 =3+ GF+withacontrol intheir suit

12 opening

(AN) (25) @) (29) (35)
X pendlties neg or 5+O GF | neg or 5+O GF neg, bal TO
2 5+
2 5+© 5+ ,9-11
20 3+2,8/10 5+0, 9-11 5+0, 9-11
22 3/42 , 317 3/42 , 3/9 3/42 , 3/9 3/42 , 3/9
2NT 5+ 32, Gl+ 5+§, Gl+ 545, Gl+
3 5+, Gl+ 32, Gl+ 5+, Gl+
3 6+0, Gl+ 6+0, Gl 32, Gl+ 5+, GF
30 4+2 | Gl+ 42 Gl+ 42 | Gl+ 5+0, GF
3? 42 0/5 42 0/5 42 0/5 42, 0/5 3/42 , Gl
3NT SO SO SO SO

INTERFERENCE IN 4°POSITION

CASEA : Opporernts interfere with 2/3x

N E S w
3 P 1 It J 2
X = Strong

2x+1 = System ON
2nt = Good-Bad
3x =6+ 8tricks S?x
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E S w
1 P 1 28 ] 2
=PD
= Natural

E S w

1 P 1 2 1 2x
= Interrogative , similar to the response of 2© without interference

= Shows exactly 3© or any reverse
=52 -40

E S w
1 P 1 20 7] 2x
= Strong
=Normally 11/15 HCP

E S w
1 P 1 2 7] 3Xx
= Gl generally BAL

E S w

1 P 1 2nt J 3x

= Interrogative forcing or waiting to pass a reopening double
=SGL inx

= UltraMIN

=6+ GF+

= SGL inx good hand S|

= To play, not too strong, but distributional

CASE B : Opponrent preempts 3+x

N
12
X

E S (6]

1 P 71 Imt J 3x
= Strong, generally balanced
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INT OPENING

Int | 28 = Puppetto2’
a) 5+ 0+HCP
b) 5+ -4M, GF
c) 4/5M, Gl
d) 6+§, Gl
1 20 =5+©0+HCP
1 20 =5+ 0+HCP
1 22 =RELAY, asksfor MIN/MAX, 89 HCP or Sl with 6+M
1 2nt = 8 6+8 0+HCPor
b) GF, 5+8 -4M or 5§ -4+~
1 38 =GF,sn", 3-suited (4441 / 5440/ 5431) or 6+mand sin
1 3 =GF, ¢§n0©, 3-alited
1 3© =GF,¢dn?, 3-alited
1 3# =GF, ¢n§, 3-suited
1 3nt =naturd
1 48 =6+O GFnot Sl
1 4 =6+ GFnotSl
1 4© =6+O GF I amplayingit!
1 42 =6+ GFIlamplayingit!
1 4nt = Quantitative 4-3-3-3 15/16 HCP

The INT complex isfrom Ron Klinger's: "Bid Better, Much Better" and is called "Keri over INT".
We 4till follow the AMBRA rule that an impossible suit asks for a stopper.

Int 1 28 (Keri over 1nt)

It ] 28
2" =obligatory
It ] 28
2 ] pas =5+ 07HCP
1 20 =4/5089HCP
1 22 =4/5* 8/9HCP
1 2nt  =RELAY, GF, see developments
1 3% =68 7/8HCP
1 3 =6 7/8HCP
1 3© =5+ -40GF
1 3# =5+ -4 GF
1 3t =5 -3-3-2, 9l passable
It ] 28
22 1 20

pas =MIN, 30 or 40-3-3-3

22 =MIN, 20-42

2nt  =MIN, 20-32

38 =MIN, good values, 4©

3 =MAX, any 4-3-3-3 UUUUUUUUU 7 39=4c0 supp?
3© =MAX, 30 and doubleton

P =MAX, 20-42

3t =MAX, 20-3?

40 =MAX, 4© and adoubleton
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Int ] 28
2] 2
pas =MIN, 3/42
2nt =MIN22
38 =MIN, good values, 3/42
37 =MAX4-3-33
3 =MAX, 3 and doubleton
3t =MAX, 2/
42 =MAX, 4% and doubleton
Int ] 28
2] ot
38 =5mor4§-4 UUUUUUUUU 73 RELAY UUUUUUUUU P30 =58
13* =5
J3nt =484
3 =awy4333 UUUUUUUUU 1302 =40/ -2-3-3
30 =40
P =4
it | 2
Int | 2
20 7] pas=5+00/7
1 22 =5+0-42 GF
T 2nt=5+0-4m, GF!!! UUUUUUUUU see developments
1 3m=5+0-5+m, GF
1 3©=6+0,G
In ] 2
20 ] ont
3§ =20,sn? UUUUUUUUU J3 =sn’
130 =sin8
13 =sr?
J3nt=54-2-2,n0 S
148 =2-50-2-48, S
14 =250-4" -2, 9
3 =340,8? UUUUUUUUU 7J39=50-4§, S
132 =504, 9
J49 =m0 Sl
30 = MAX, 3/40, no 4m
40 =MIN, 3/4©
Int ] 20
Int ] 20
22 pas=2/42 MIN

2nt =5 -4m, GR!!! UUUUUUUUU see developments

3x =52 -5x, GF




Int 20
28 2nt

3 =22, sn? UUUUUUUUU

13 =sn”
J3©=sn®©
13 =sing§
J3nt=54-2-2,n09
48 =5 -2-248, S
J4 =5 -24" -2, S
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3 =34, sI?UUUUUUUUVU J3°©=5-48,9

q32 =504, 9

J4 =no S
3 =MAX, 3/4% ,no4m
42 =MIN, 3/42

Int J 2

mn ] 2
2nt =MIN
3% =MAX

Responder can now bid his suit with a powerful one-suiter: good 6+ card and Sl.

Int J 2nt

It J 2t

33 1 pas=6+8,0/7
1 3 = GFbothminors
1 3© =5+§ 40
q1 3 =5+8 4

Further bidding is natural, opener triesto find afit by bidding 4card M or bids 3nt.

iInt ] 38/ /OP

Int 1 48
REQUIREMENTS: One-suited 6+©
Int 7 48
4" =Youplayit!
40 =30
int ] 4

REQUIREMENTS: One-suited 6+2

Int 7 4
4© =Youplayit!
42 =380

INTERFERENCE OVER INT

INTERFERENCE IN 22POSITION

CASE A : Opponent doubles for penalty
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S W
P = Forces XX to show : a) Desireto play INT-XX
b) 4+2 -4+§ /" wesk
¢) One-suited GF forcing to the 3 level
1 XX =forces28 toshow : a) Weak one-suiter with § or ”
b) 4+©-4+2 weak
¢) 4-4-4-1 with SGL inaminor
d) One-suited Gl, forcing to 3 level

X m
e

n

28 =448 -4+ J/© weak

2" =44 -4+0 weak

20 = Natural, weak

22 = Natural, weak

2nt = Two-suited somewhere 5-5 GF
3x = Preempt

e e b e ]

NB : if the bidding goeslike: 1nt | X | Pl 2x opener doubles with 4% and something intheir suit and can double 2§ by the
opponents with both minors
Weak 4-3-3-3 hands can be described as you please

CASEB : Opponent doubles for artificial TO, for example DONT or showing 2 unknown suits or something el sel
N E S W
Int. J X ] XX =Alwaysshowsaweak hand with 5+x and forces opener to bid 28
P = Could be strong if followed by a double, whichis TO
1  Other bidsare as per system ( System ON )

CASE C : Opponert interferes with 2x ( Natural or two-suiter )
N E S W
It J 2x J X =TO

1 2y+ =RUBENSOHL ON

N E S W
I 1 2x 1 P 1 P
X =TO amost certainly 2 small cardsinx and a MAX

CASED : Opporent interferes TEXAS style 2° /2©
N E S W

It ] 22 J X =4+ 7+ HCPif MIN then useful cards
1 P = Nothing to say, but if followed by X then penalty
1 20 =GF+bal possibly 42
1 22+ =Rubensohl ON
N E S W
I J 20 ] X =BOT7+HCP
1 P = Nothing to say, but if later X, it's penalty
1 22 =GF+ba possibly 42
1 2nt+ = Rubensohl ON

CASE E : Opporent overcals 2" Mullti

N E S w

It | 22 ] P = Nothing to say, else later penalty double
1 X =TOB8+HCP
1 29+ =Rubensohl ON

INTERFERENCE IN 4°POSITION

CASE A : Opponent interfereswith double over our 28 puppet showing 8§

N E S W
mt J P 1 28 ] X
P =2

2 =3+ ,MIN
XX =3+ ,MAX

CASEB : Opponent bids 2 of asuit over our 28 puppet
N E S W

In 1 P 1 28 J

X = TO generdly 4 cardsin the other major



N E S W
It 1 P 1 28 ]
P 1 P 1 X =TO
1  2y+ =45yGl
1 2nt =lInvitational with astop

CASE C : After aTransfer 2 /© and opponent doubles or bids a suit

Opener completes the transfer with a good fit if wants to play the hand or XX's with a good hand with fit but no interest in playing
the hand

After X or interference of asuit, 2nt always shows aFIT + stop invitational to 3nt , whereasthe double is TO and showsaHT

CASED : Opponent reopens with a double showing points, and other opponent sits for it
N E S W

I J P 1 P 1 X

P 1 P 1 XX =S0Sgenerdly 4-4

1 28 =58
1 2 =5
CASEE: Opponent balances with asuit or two-suiter
N E S w
Int. ]| P 1 P 1 2x =Naturd , two-suited
P 1 P 1 X =TOY7useful HCP
N w

1 2x =Landyor Texas
=TO 57HCP useful HCP

el
XTowm

E
=)
P 1 2z 1
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28 OPENING

Possible hands: &) bal 23+ HCP
b) 4M-5+m GF+
) 6+m GF+
d) 4-4-4-1 GF+

=RELAY

=5+a

=5+0

=(9)6+8

= (56t

=5+0-5+2 0+ HCP

= 5m-4om SGL © weak
=5m-4om SGL & weak

= 5+m-5+om weak

=70 with A or KJor QJ10
=72 with A or KJor QJ10

1
1
1
1
1
1
1
1
1
1
1

N
w
I
N

a) 40-5+m
b) 4-4-4-1 SGL M (high shortage 1°1)
c) bal 25+ HCP

22 = a) 42 -5+m
b) 4-4-4-1 SGL m

2nt = bal 23/24 HCP UUU See opening of 2nt

38 =6+8 UUUUUUUContinuations natural
3 =6+ UUUUUUUContinuations natural
30 =St?© for 3nt

3P =572 for 3nt

3t =9/10trickswith all stoppers

% 7 2

20 ] 22 =RELAY forcing!!

2nt = bal 25+ HCP UUU See opening of 2rt

3m =40-5+m UUUUUUUCorntinuations natural
30 =4441SGL?2

3  =4441SGLO

% 1 2

22 7] 2nt =RELAY practically forcing

3m =42 -5+m UUUUUUUCorntinuations natural
30 =4441SGL"

3® =4441SGLS

% ] 20
22 =RELAY withFAIT2 UUUUU Continuations natural
2nt  =RELAY without FIT 2

% ] =
2nt = RELAY UUUUU Continuations natural
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2 OPENING

Possiblehands: &) 60 510 HCP
b) 5+© 21+ HCP or 4- losers

=RELAY, not forcing
=5+2 | not forcing
=RELAY, Gl+

=6+5 , F1
=6+, F1

2

3 =MAX,nosin2 UUUU a3 =rdayUUUUU a30=nosn
3 =MIN a3 =sn”

3©® =MED, nosin a3nt=sn8§
32 =MAX, sin?

3t =OAKQxxx

48 =60-48,GF

4 =604 ,GF

27 ] 20

1 20

=50-4x UUU See developments
= 6+0-4x Gl+

=6+0

=50-42 GF
=50-58 GF
=50-5" GF
= 9/10 winners with all suits stopped

20
2 =4+§ UUUUUUUUU 738 =348

® -4 OUOOOOULU 3 -3

3 =442 UUUUUUUUU 3 =3+
3© =30 and at least one cover card

e e e e

Completing the TEXAS alwaysindicates at least 3 cards in the suit , and other bids are descriptive and show MAX 2 cardsin the suit
of partner
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20 OPENING

Possiblehands: &) 5+* GF

b) 62 5/10HCP

=RELAY, not forcing
=RELAY, Gl+

=6+5, F1

=6+ ,F1

=2 AKQxxx
=6 -48, GF
=62 4", GF

20 ] 2

1 22

=5+ 4x UUUU See developmerts
=6+

= 5% -50 GF+

=52 -58 GF+
=52-5" GF+
= 9/10 trickswith all suits stopped

1
1
1
1
1

26
3% =4+ UUUUUUUUU 13 =3+

3 =440 L,JL,JL,JL,JL,JL,JL,JL,JL,J 130 =3+©

3®© =4+8 UUUUUUUUU 3 =348
3 =32 and at least one cover card
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22 OPENING

2 1 2nt  =RELAY F1

1 3% =

1 3 =

71 30 =5:0F1

1 ® =58F1

7 3t =

1 48 =Preempt

1 4  =Preempt

2 | 38
2 ] 35
3 =5+ -48 A UUUUUUUUUUUUUUUUUU J3©=RELAYUUU J3* =sGL 2
3© =5+8-4" SGL © GF 1 3nt=SGL © passable
P =5+8-4" GL?2 GF 148 =5 -48 SGL © very strong
3nt =58-5 GFpassable UUUU 748/ =Fixing trumps J4 =6+ -48 SGL © very strong
48 =68-5 GF J40/* =6+0/2 suggesting the contract
4 =6 58 GF
49 =585 SGL © monster hand
42 =58-5" SGL 2@ monster hand
2 ] 2nt

2 1 ont

3% =MINUUUUUUUUU 13 =50
J30r =70

3 =MAX UUUUUUUUUUUUUUUU 30/ =370/

3© =5tm-4om SGL © GF 1 4m =Fixestrumps S

P =5+tm-4om SGL 2 GF J3nt=S0O

3nt =58-5° GFUUUUUUUUU ]48/ = Fixestrumps

48 =68-5 GF J40/* =6+0/2 suggesting the contract
4 =6 -58 GF

40 =58-5 SGL © monster hand

42 =58-5" SGL @ monster hand
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Z2NT opening or overcall

a 38 = puppet Stayman, responder has 3/4 card M
a3 =transfer

a 30 = transfer

a 3 =transfer for §

a 3N =52 -40, NF

a 48 = transfer

a4 =transfer, Sl

a 4o = transfer, Sl

a 4N =52 -40, NF, Sl

2NT 38
2N a3
3" =4cM UUUUUU see development
30 =50
3@ =52
AN=45MUU  a48=mnors?UU a4 =5mUuvuuuu
a40 =2-3-4-4
as =3244
a 4t = 3-3-4-3 or 3-3-3-4
2N a3
3 a 30 =42
a3 =40
a 3N =no 4M
a 48 =minors? UUUUUUUU a4 =43mnorsUUU a4orUUU a4 =48
a4 =404 ad4o =482 ant=4

a4 =4 -28
adnt =no4dm

2NT 3

2N a3
30 = normal accept

3N =52 -20 UUUUUUUUUUUUa 48 =2 0K, § cue

48 =40, cue a4 =retransfer

4" =40, cue a 4o =transfer to @
a 4N =2 OK, turbo

2NT 3©

2N a30
3 =normal accept
3N =50-2 UUUUUUUUUUUUa 48 =0 0K, § cue

48 =42  cue a4 =transfer to© (possible” cue)
4 =42 cue a 40 =re-transfer to @
40 =42  cue a4 =0 O0K,?2 cue

a 4N =© OK, turbo
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3NT OVERCALL

When our side bids 3nt after an opponent's preempt we use TEXAS asinvitationto slam .

48 =S0or raseto4nt UUUU J4 =Extravaues
7 4© = Normale response UUU New sit is SO while 4rtt is quartitative . If 1 bid
their suit, then | have atwo-suiter at least 5-5
4 =(5)6+0 Sl UUUU Cortinuations natural
40 =(5)6+* SI UUUU Cortinuations natural
£ =(56+§ 9
it =(5)6+ S

TEXAS into their suit shows SGL in the suit 4-4-4-1 or 5-4-3-1, Sl
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APPENDICES

‘GAR’

Every time that opener or responder shows a two-suiter one utilizes the structure called GAR:
asaRELAY one adopts the first step, and responses are :

1 38 =54

1 3 =64

When 5-5 or 5-4-4 are possible , then:

1 3© =55SGL high

1 3 =55SGLIlow

1 3n=544

Over responses of 38 and 3" one can make a further RELAY:
1° STEP = generic RELAY

2° STEP = RELAY + fixesthe higher suit

The response to thisRELAY are:

1° STEP=2-2

2° STEP = SGL high

3° STEP = SGL low

In the casesin which the HCP range of the two-suite isnot yet determined :
38 =54 11/15HCP

3" =64 1U21HCP

30 =5-4-2-2 16/21 HCP

3 =5-416/21 HCP SGL high

3nt =5-4 16/21 HCP SGL low

After theresponse of 3" and the successive RELAY 3© werespond :
1° STEP = 11/15HCP SGL high

2° STEP = 11/15HCP SGL low

3° STEP = 16/21 HCP SGL high

4° STEP = 16/21HCP SGL low

e ] e e

CHECKBACK STAYMAN

When opener rebids 1nt even over interference we use two convertional rebids 28 and 2" . 2§ isapuppetto2’ inorder to play 2°
or it initiates an invitational sequence. 2" isdwaysaGF RELAY that asks distribution

Let's seethe structure :
im M
Int 28 =PUPPET to 2

2 = RELAY GF

2M  =5+M (7)-(10) HCP

20M = @ifMis2 UUU 5+ -40 no game
b) if M is© UUU 40-42 10/12 HCP

2nt  =2ntT UUUUU See continuations

3m =4M-5+tm Gl

3om =5M-4mGF, snm

M =6+M J GF

b o el e el e

30M = aifMis© UUU 12 -50-4m GF
b)if M is2 UUU 10-52 -4m GF
3nt = Natura




CONTINUATIONSAFTER 2§

T 1Y
it 1 28
2 1 P =4M-5+ 5/9HCP
7 2M =5M 10/11HCP
7 20M= a ifMis2 UUU 58 -4/50 9/11 HCP
by if Mis© UUU 50-42 10/11HCP
71 2t =1011HCPBAL
7 3m =5M-4+m9/11HCP
7 3om =5M-50m 911 HCP
7 3V =6+M 911HCP
i |

30M = @ ifOMis© UUU 5 -50 911 HCP
b if OMisa UUU 6v-5¢ 911HCP

CONTINUATIONSAFTER 2

Im ] 1M
I ] 2
Priority :

a)  Bid4? other major

b)  Raisewith 3% inresponder's suit
¢) Rebid abad six-card suit

d) Show 54

€) Bid2nt

Particular sequences :

Im ] 1M
It ] 2
2x 1 2M =weak 5+M useful hand for NT
1 2nt =Askingfor further info (eg. : Do you have 4§ ?)
1 3y = @) if ajump: 6M with SGL y Sl
b) if not ajump: 5M-4y GF
1 3M =6+M L if the bid isnot available at the 2 level
We use CHKBCK evenafter 18 1" J1ntand 1© ] 12 T 1rt
l© ] 18
It ] 28
2 ] 20 =1011HCPwith4+* and 30
1 22 =5 10/11HCP
1 2nt =4* 10/11HCP
1 38 =52-58 911HCP
1 3 =5-5 911HCP
1 3 =6 9Y11HCP
l© ] 18
It ] 2
20 =50J
2 =
2nt = Nothing special
3m =3 with asolid stopper inm and bad doubleton in the om
8 1 T 18 71 T
It ] 28 It ] 2
22 1 2 =5 -4010/11HCP 20 =40 possibly 4?
1 22 =5 -42 1011HCP 2 =
1 2nt =4/5 10/11HCP 2nt =48-3-3-3o0r58 L
1 38 =4/5 -58 9/11HCP 3% =583
1 3 =6 1011HCP

73
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2ntT' STRUCTURE

Applies after a1-over-1 response and opener rebids:

- 1% or

- Intor

- hisownminor or

- responder's minor.

A subsequent 2nt rebid my responder is 2ntT (see diagramsfor examples).
This convention forces opener to bid 3§ over which responder can :

a)  Passwith4x-6+8 ( Exceptionally with 3+8 if opener hasshown§ )
b)  Bidanew suit a 3 level showing 5-5 GF

¢)  Repeat one's own suit with 5x-58 GF

d)  Bid 3nt showing solid or near solid suit, and light SI

e)  Makeacue-bid with asolid or semisolid suit and strong Sl

f)  AT4°in2° suit of partner S with SGL UUU Bid it at the four-level

TURBO CONVENTION

RKCB is prectically discarded by the system, substituting instead TURBO

How does it work ?

After thetrump suit has been set, all the bids are Cue Bids and 4nt represents aBY PASS . When the bidding approaches 4ANT one
bids 4nt if one possesses and even number of keycards (4 Aces + King of trump) 0/2/4 while BY PASSING 4nt with an odd number
of keycards 1/3/5.

To play the small slam requires four keycards, and the grand requires all five.

The problem isthat only one of the players hasa count on the keycards, thereforeif al the keycards are present then one needs to
transmit this information to partner by continuing to cue-bid.

When trumps are fixed in amajor suit at the 3 level then 3nt becomes TURBO and a successive 4nt shows the Q of trumps

When a minor is fixed below 3nt and one of the two partner's goes above 3rt, 4 of the fixed minor becomes TURBO

THE COMPETITIVE AUCTION AFTER AN OPENING

General rules we adopt over all openers :

a) Useincompetition of the convention Good-Bad 2NT

b) Redouble by responder is GF

c) Double with araise ( only at the 2-level) which shows exactly 3 in partner's suit or a strong hand

d) Thedirect cue-bid is always two-suited if made by responder , while if made by opener showsa FIT in partner's suit but might
not have asingleton in the cued suit, especialy if made a the 2-level

€) The jump-cue shows asplinter, withaFIT

f) Over two-suited intervention the cue of the 1°available suit showsa FIT for opener's suit and is at least invitational , while the
cue-bid of the 2° suit shows 5+ cartein theremaining suit, and is GF at least

g) Thedouble and thenraise, at thetwo or three level , in opener's suit by his partner shows alimit hand with 9/11 HCP; while the
double then raise to four of aminor isaways GF!

h) The cue of an enemy suit after we have both shown a suit showsa HT inthe last bid suit , astrong hand and certainly a SGL in
their suit; while whenever both have shown a suit the double followed by acueisinvitational to play in NT

i) Thejump to 2nt after our opening and interference at the one-level showsa FIT inthe opening suit at least 4° and 10+ HCP. In
the cases of theopening 18 or 1" , 2nt promises something in the enemy suit , while over the opening 1© , 2nt shows only
points and aFI T

j)  When the opporentsinterferein a suit we use the concepts of RUBENSOHL , therefore the bid of anew suit at the 2 level after
opener has bid and enemy interference by RHO shows at least a 5° suit , but generally 6° , and is passable , and this shows at
maximum 10 HCP but might not be passed. Therefore if one is strong with at least a 5 card major one needs first to double and
then show the suit the next round . From 2nt up are al transfers, at least invitational, with generally at least a6-card suit.

k) Useof RUBENSOHL every timewith 1nt opener and natural interference, sometimes even at the two-level ( 1nt_J] 20= Natural
“J Rubensohl ) . Thisconvention one uses even after an opening 18 /* /© and jump interference of 2" /©/2 understanding that
opener often has a balanced 12/14HCP

WORKINGS OF RUBENSOHL

Rubensohl adopts the following rules used in practicaly all situations :

U Doubleis generally STAYMAN over interference of aminor ; over major suit interference it is optional and shows
at least 8/11 HCP generally with a useful hand

U Theresponse 2 of astit is natural and competitive, but not forcing ( could have just 3 HCP)

U Theresponses 2nt/38 /* /© areall TEXASincluding the cue-bid of their suit
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U The TEXAS responses can be:
a) Strong or wesk, if the suit was not biddable at the 2 -level
b) Strong or intermediate, but not wesak if the suit was biddable at the 2-level
U Response of 32 isanatural 5-card suit GF, without a stopper
U 3nt is natural, with astop
U TEXAS cue-hid assumes many meanings . Basically partner completes the transfer without a Stop while making a descriptive bid
with astop
EXCEPTION : If the opps have shown spades?® then the response 3© shows aninvitational hand with ©
while the response 32 shows a GF bal hand , 4©
The transfer cueis STAYM AN which is used to look for at least one 4* major or astop in their suit. Partner responds:
a) Completes the transfer UUU | DON'T  have a stopper, but could still have a4 card major ! LU Now responder starts looking
for afit in asuit knowing the lack of astopper.
b) Bid amajor UUU | have a stop, and this four-card major
If partner of opener has shown a hand at least invitational the simple completion of the TEXAS tells partner to passin the case of an
invitational hand. Therefore opener with a maximum or agood fit FIT should not just complete the TEXAS but ook for another

descriptive bid

We provide an example, in closing :

N E S w

It ] 2 X~ =STAYMAN but not GF, perhaps 6/9 HCP with 4©-4% possibly 6§ 7/9 HCP

20 =5+0© Natural competitive

22 =5+2 Natural competitive

2nt =TEXASfor § Wesk or Strong
38 =CueTEXAS, GFba

3 =5+0GlorGF

30 =5+ Glor GF

3 =52 GFwithout astopperin”
3nt = Natura

e e e

DESCRIPTION OF GOOD-BAD 2NT CONVENTION

1°) When is it used ? Whenever oneisina competitive situation at the 2-level and our RHO has not passed, so has bid a suit or
doubled or redoubled ( ATTENTION and it isnt aforced bid ) . For the moment we only use it when our side has opened.

2°) Why ? It shows a minimum, but unbalanced hand ( likeif two-suited at least 5-5 or one-suited with agood 6+ cards but weak in
points) ; one should not bid it with just 5-4 if partner has not promised the suit ( e.g. after 18 -12 - X = shows 4© moast of the time)
3°) How doesresponder bid in response to the convention ? If not possessing a GF hand bid what gets you to the best partial :
always bid a suit lower or equal to opener's suit. If you happen to have a GF hand, cue-bid to show a generally balanced hand with
interest in playing 3nt but without a stop in the opponent’s suit . Else one can show one's own suit of at lesst five-cards and force to
at least game

4°) What doesthisimply ? It impliesthat all bids at the 3-level ( including repeating opener's suit ) are always constructive and in
the case of partner having aready doubled (showing a strong hand), is GF

28 RELAY

After openingsof 18 or 1" and responses of 1© or 12 responder can make aRELAY of 2§ ; opener rebids :
2 = 3°raise of partner's suit, MIN or MAX

20 =Noraiseand MIN

22 =Noraise UNBAL MAX

2nt  =NoraissBAL MAX

RULES:

Opener goes past the four steps only with particular hands. If opener has shown support, a cheap rebid is not forcing. Over the 2° and
3° stepsthe RELAY isawaysthe next step . If opener has shown aMAX all bids are GF . Responder, in order to show a hand with
slam interest must go through the RELAY !!

EXCEPTION : One can show slam interest by raising the 2° suit of opener to the three-level or jumping to the 3-level in ones own
suit after having been given araise.
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OVERCALLS

SUIT OVERCALL

INTERFERENCE IN 2* POSITION

When we overcall with 1 of asuit we do so in a constructive manner and partner takesus for 9/12 HCP, therfore al the responses
may be invitational .

N E S W
1x

1 1y =4+ypossibly with alonger minor

1 Int =15/17HCPBAL

T 2w = (56+w 10+ HCP

1 2y =6y510HCPUUU Cortinuations asafter 1" ] 20/2 or after an opening weak two
7 GHESTEM

1 3 =wyM

RULE: Whenthe overcall is"exclusive" (skips one or two suits) then responder uses transfers from the cue upwards.

L et's see some continuations
N E S w

2 7 28 ] P 1 2 =NATURAL FORCING 7/9HCP 6+  and0/1§ or 10+ HCP 5+
1 20 =NATURALEFORCING 7/9HCP6+© and 0/1§ or 10+ HCP5+O
1 22 =FT8§ 10+ HCPor 15+ HCP balanced
1 38 =3+§ withaceor king and lessthan 9/10 HCP
N E S W
2 71 2 71 P 1 20 =NATURAL FORCING 7/9HCP6+© and0/1" or 10+ HCP5+©
1 22 =TRANSFERfor§
1 38 =HAT" 10+ HCPor 15+ HCP baanced
1 3 =3+ withaceor king and lessthan 9/10HCP
N E S W
2 71 20 71 P 1 22 =TRANSFERfor§
1 38 =TRANSFERfor”
1 3 =HTO 10+ HCP or 15+ HCP balanced
1 3© =3+O withaceor king and lessthan 9/10 HCP
N E S w
© 7 1 7] P 1 1Int =9/13 HCP balanced with Stop in enemy suit
1 28 =NATURAL FORCING 7/9HCP6+§ and 0/12 or 10+ HCP5+§
1 2° =NATURAL FORCING 7/9HCP 6+ and0/12 or 10+ HCP5+"
1 20 =HT3°and 10+ HCPor 13+HCP baanced
1 22 =3 4/10HCP (with major honor if 46 HCP)
1 2nt =AT4° 11+ HCPUUU] 38 = SGL with9- HCPUU ] 3" =R UU ] 30 =high
13 =9/11HCP 13 =mid
13 =9-HCPNSGL 1 3nt=low
1 3nt=12/14 HCP
1 cue bid = 15+HCP (or equivalent)
1 30 =FT4911HCP
N E S w
1© 7 28 J P 1 2 =NATURAL FORCING 7/9HCP 6+  and0/1§ or 10+ HCP 5+
1 20 =TRANSFERfor@
1 22 =FT8§ 10+ HCPor 15+ HCP balanced
1 38 =3+§ withaceor king and less than 9/10HCP
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20 =TRANSFER for?

22 =TRANSFER for §

38 =FTA" 10+HCPor 15+ HCP baanced

3" =3+ withaceor king and less than 9/10 HCP

W

Int = 9/13 HCP balanced with Stop in enemy suit

12 =NATURAL FORCING perhaps 4°

28 =NATURAL FORCING 7/9HCP 6+§ and 0/1 © or 10+ HCP5+8§
2" =HT 3°and 10+ HCP or 14+ HCP balanced

20 =30 4/10HCP (\with major honor if 4/6 HCP)

2nt  =FAT4° 11+ HCPUU 3§ =SGL with & HCPUU 3 =R UU 130 =high

13 =9/11HCP

139 =9- HCPNSGL

13nt=12/14 HCP

Y cuebid = 15+HCP ( or equivalent )
3" =FT4° 9Y11HCP

W

Int =9/13 HCP balanced with stop in enemy suit

28 =NATURAL FORCING 7/9HCP6+§ and 0/12 or 10+ HCP5+8§
2"  =TRANSFER for©

20 =HT 3° and 10+ HCP or 14+ HCP balanced

22 =32 4/10HCP (\with major honor if 4/6 HCP)

2nt  =FAT4° 11+ HCPUU 3§ =SGL with & HCPUU 3 =R UU 130 =high

13 =9/11HCP

13 =9-HCPNSGL

1 3nt=12/14 HCP

Y cuebid = 15+HCP ( or equivalent )
3 =FT4°911HCP

w

2 = TRANSFER for ©

20 =TRANSFER for?

22 =HTa$§ 10+ HCPor 15+ HCP balanced

38  =3+§ withaceor king and less than 9/10 HCP

W

Int =9/13 HCP balanced with Stop in enemy suit
1© =NATURAL FORCING perhaps4°

12 =NATURAL FORCING perhaps 4°

28 =HT" 10+ HCP or 14+ HCP balanced

2" =3 withaceor king and less than 9/20 HCP
2nt = natural 15/16 HCP with double stop in §

W

Int =9/13 HCP balanced with Stop in enemy suit

12 =NATURAL FORCING perhaps 4°

28 =TRANSFERt0"

2" =HT 3°and 10+ HCP or 14+ HCP balanced
20 =30 4/10HCP (\with major honor if 4/6 HCP)

2nt  =FAT4° 11+ HCPUU 3§ =SGL with & HCPUU 3 =R UU 139 =high

13 =9/11HCP

139 =9- HCPNSGL

13nt=12/14 HCP

1 cue bid = 15+HCP (or equivalent)
38 =FIT4°911HCP

13 =mid
] 3nt=low

13 =mid
] 3nt=low

13 =mid
] 3nt=low

7
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1 1Int =9/13 HCP balanced with Stop in enemy suit

1 28 =transferto”

1 2 =transferto©

1 20 =HAT3°and 10+ HCPor 14+ HCP baanced

1 22 =3 410HCP (with major honor if 4/6 HCP)

q1 2t =AT4°11+HCPUU ]38 =SGL with9-HCPUU]3 =R UU ] 30 =high
13 =9/11HCP 13 =mid
13 =9-HCPNSGL 1 3nt=low

13nt=12/14 HCP
“J cue bid = 15+HCP (or equivalent)
1 38 =HT4°911HCP

RULESFOR RESPONDING TO THE OVERCALL

1) Uptothecuethey areF1

2) Starting at the cue, all bids are competitive or strong

3) NT bids remain netural

4) Jump shifts indicate a 6-card suit and are invitational

5) Jumping to 2nt over 1©/2 isconventional ( & ) and showsaFT at least 4° and points

RULESFOR OVERCALLER

OVER A NATURAL RESPONSE F1

1) Ore rebids naturally , repeating one's suit is the weakest bid

2) NT bids show astopper and normal hand

3) Cueindicatesa MAX and FIT nearly always, for partner's suit

4) Theraiseshowsanorma hand witha HT

5) Jump cue isa SPLINTER and with at least 3° to an honor (much better 4°) or 4 small cards and a decent hand

6) New suits denote agood hand, canape if 1M then3m , and long-short if 1M then 2m, and if 2m and then2M itisa
distributional hand with not too many points only if the major could have been bid at the 1-level.

RESPONDING TO THE TRANSFER

1) Completing the TRANSFER indicates anormal hand in general with aminimum FIT, or one can repeat a 6-card suit or bid a
new suit

2) Jump-change of suit is SPLINTER inaM AX with FIT with honor 3° or with 4 small

3) The change of suit indicates anormal hand, with or without a FIT

4) 2nt showsabal hand M AX with stop without agreat FIT

5) The cue showsa MAX with HIT

6) Jump cue showsaM AX with agrea FIT and SGL in opener's suit

RULESFOR THE RESPONDER

1) After completing the TRANSFER the change of suit indicates agood hand

2) Bidding NT indicates agood hand with a stop indicano una bella mano with stop

3) Theraise shows aninvitational hand

4) The cue asksfor astop, but if followed by araise showsa control

5) If overcaler does not complete the TRANSFER repeating the suit shows aweak hand

|IF OPENER'SPARTNER DOESNOT PASS

CASE A : Opener's partner offersaraise

EX.

N E S W

x 1 1y 1 22 1 ?

x 1 2y 1 x 1 2

Inthis case we apply RUBENSOHL , which means the sLits at the 2-level are competive to play while 2nt and above are

al TRANSFER competitive invitational and forcing . The double in this situation shows the desire to compete somewhere, without a
great fit for partner.

EX

N E S W

x 1 1y 1 Imt J 2

x 1 2y 1 22 ] 2

We gtill use RUBENSHOL, but that the double is now penalty

CASE B : Opener's partner bids NT

CASE C : Opener's partner bids anew suit
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N E S W

Ix 1 Ly 71 1z 7 2

x 1 1y 1 2z 1 ?

x 1 2y 1 2 1 2

Inthis case we use RUBENSHOL ; the double remains TO showing ahand of at least 8/10 HCP without a great FIT in partner's suit
and confirms afour-card suit , usually five, if the new suit was not forcing ; but if the change of suit isforcing the double assumesa
conventional meaning: FIT 3° in partner's suit and strength ina 4° suit

What meaning could the extra cue have now?

We agreethat the cue of thefirst suit showsaFI T 3° with points while the cue of the second suit shows FIT 4° and points.

EX.

N E S w

Ix 1 Ly 71 1z ] 2x =three-cardraise 9/10+ HCP
1 2y =Norma competitiveraise

1 2z =4+ cadraise, 910+ HCP

1 3y-1 =Mixed 4-cardraise, 7/9 HCP

From 2nt and up we use the concepts of RUBENSHOL

EX.

N E S W

Ix 1 Ly 1 2z 2x  =3-card raise 910+ HCPIf there isn't space at the 2-level this hand goes through double
2y  =Normad competitive raise: 3card, 6/9 HCP

1° cue available via TRANSFER = at least 4card raise and 9/10+ HCP

2% cue available via TRANSFER = mixed raise, 4card iny, 7/9 HCP

3x-1 =mixed 4card raise, 7/9 HCP

3y =M

In general we don't go to the 3-level voluntarily with only an 8-card HT; if there is space for an economic cue at the 2-level we use it
with 10+ HCP and the 3° raise goes through the double first

] ] b b bl

From 2nt up ore uses RUBENSHOL but with a particularity with the cue-bid TRANSFER
an example to better understand :
N E S W

r 71 1 ] 28 ] X =TOnotwith3®
1 2 =rasewith3 (9)10+ HCP
1 20 =5+©ONF
1 22 =normal competitive raise
1 2nt =4+ 10+HCP
T 38 =mixedrase4® 7/9HCP
1 3 =TRANSFER6+O Gl or GF
1 3 =M
Another example :
N E S W
18 1 1© J 22 1 X =TOposshby3o©
1 2© =Norma
1 22 =5+ NF
1 2nt =4+0 10+HCP
1 3% =407/9HCP
1 3 =
1 3 =M
Another
N E S W
l© 1 2 1 22 1 X =TO
1 20 =3+§ 10+HCP
1 22 =5+ NF
1 2nt =(3)48 7/9HCP
1 3% =M
1 30 =6+ G+
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If not yet understood .....
N E S W

18 ] 10© ] 1 ] 1t =Natura
1 28 =30(9)10+HCP
1 2 =5+ NF
1 2© =Norma
1 22 =4+ 10+HCP
1 2nt =4©7/9HCP
1 38 =6+ G+

... and finally

N E S W

I 71 1 71 20 ] X =TOcanhe3?
1 22 =Norma
1 2nt =5(6)+8 Gl+
1 38 =4+ Gl+
1 3 =42 7/9HCP

CASE D : Opener's partner gives an negative double

ES.

N E S W

x 1 1y 1 X 11 2

x 1 2y 1 x 1 2

The redouble shows amajor honor in partner's suit

All new suits at the 1 or 2 level areweak and misfit in partner's suit

From 2nt up isRUBENSOHL but with a particularity in the cue-bid TRANSFER .
The bid of 1nt can have two meanings : 1) Natural 2) weak misfit and other two suits

CASE E : Opener's partner cue-bids the overcall
Inthis case we use the inverted double: double = | don't have top honors; pass = | have a major honor
From 2nt up we use Rubensohl asking for the lead in the shown suit. An example to understand better:
N E S W
1© ] 1 ] 22 7] pass=Ihaveatleast amajor honor

1 X = | don't have amajor honor

1 2t =Asksfora$§ lead (could perhapshaveaFIT 2 )

INTERFERENCE IN 4* POSITION

CASEA : Reopening with 1 of asuit
N E S W

x 1 P 1 P 1 Ly

P 1 1nt =Asin2*position9/13HCP
1 2x =Opening strength with 4+x
1 2w =5+twNF

N E S W

x 1 P 1 P 1 Ly

X ] XX =Opening strength with 4+x F1
1 1nt+ =Asif opener had passed

N E S W

x 1 P 1 P 1 Ly

Int ] X  =PD 4+xand opening strength
1 28+ =RUBENSOHL ON

N E S W

x 1 P 1 P 1 Ly

2x 1 X =PD
1 2x+ =RUBENSOHL ON

N E S W

x 1 P 1 P 1 Ly

2w ] X =Opening strength with 4+x
1 2z =5+zNF
1 2nt+ =RUBENSOHL ON

CASEB : Inthecasesof not reopening
We could adopt the same responses in 2° position
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N E S W
Ix ] P 1 ly 1 1z
P 1 1nt =Asin2®position
1 2x =3zGl+
1 2y =4+zCGl+
1 2w =5+twNF
1 2nt+ =RUBENSOHL ON
N E S W
Ix ] P 1 ly 1 2z
P 1 2w =5+twNF
1 2x =3+zCGl+
1 2nt+ =RUBENSOHL ON
N E S W
Ix ] P 1 ly 1 1z =4+zNormd
1 1Int =4-4+intheremaining suits
Exception: over Im 12 ] 1nt =50-4om
1 2x =5-5intheremaining suits
1 2y =5+ynatura
1 2nt =6-4intheremaining suits
N E S W
x 1 P J Im J X =TO
1 2x =5-5including any unbid majors
1 2y =(56+y10/15HCP
T 2nt =55inlowes unbid suits
N E S W
Ix ] P 1 2x 1 X =TO tolerance for the 3 other suits
1 2y =5+yNorma
1 2nt =Playablein2 suits, like TO but not playable in 3 suits.

After 12 ] P] 22 ] 2nt= 50-4+mand at least opening strength

RESPONSESTO THE TAKE-OUT DOUBLE

Our TO X guarantees at least 7 cardsin the majors over opener's minor while over opener's major shows at lesst 3 cards in the other
major

Therefore the double could be 5-4 minorswith 3 cards in the other major and obviously these hands are not that strong.

The schemeis quite simple, thought it may look complicated ; Bidding NT is natural , while bidding a suit cheaply is natural and
weak. From the cue-bid up is TRANSFER to the next suit including the cue-bid, but thistransfer is never an unbalanced GF. The
purpose of these conventional responses isin order to TRANSFER to aminor and then, after completing it, a change of suitisan
invitational hand .

EX.

N E S W

l© 31 X 1 P 1 38

P 1 3 1 P 1 3 =5 -4 jnvitationa

Completing the TRANSFER by doubler shows anormal hand, otherwise with amax hand and FI T one super-accepts by bidding
natural values; the jumps are SPLINTER with FT if in opponent's suit, otherwise showing along decent suit with HT and a good
hand.
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CASE A : Opener's partner passes
N E S w

18 1 X 1 P 1 1 =4+ 010HCP
1 1© =4+©010HCP
1 1@ =4+ 0/10HCP
1  1nt=7/10 HCP constructive
1 28 =5+ 8+HCP
1 2 =5+08+HCP
1 20 =5+ 8+HCP
1 22 =Cuebid TRANSFER GFBAL
1 2nt =11/12HCPBAL
1 3% =5 -4CGF
1 3 =5-4CGF
1 3© =5%-40 GF(Smolen)
1 3 =50-42 GF(Smolen)
N E S w
r 71 X 1 P 1 1© =4+©010HCP
1 1@ =4+ 0/10HCP
1 1Int =7/10HCP
1 28 =448 O/7THCP
1 2 =5+08+HCP
1 20 =5+ 8+HCP
1 22 =5+8 8+HCP
1 2nt =1112HCPBAL
1 38 =Cuebid TRANSFER GFBAL
1 3 =58-40/ GF
1 3© =5*-40 GF(Smolen)
1 3 =50-42 GF(Smolen)
N E S w
© 1 X 1 P 1 1@ =4+ (010HCP
1 1nt =6/10HCP
1 28 =448 O/7THCP
1 2 =4+ 0O7HCP
1 20 =5+ 8+HCP
1 22 =5+8§ 8+HCP
1 2nt =1112HCPBAL
1 38 =5+ 8+HCP
1 3  =Cuebid TRANSFER GFBAL
1 3© =58-42 GF
1 3 =5 -4 GF
N E S w
2 ] X 1 P 1 1nt =6/10HCP
1 28 =448 O/7THCP
1 2 =4+ 0O7HCP
1 20 =4+©07HCP
1 22 =5+8 8+HCP
1 2nt =11/12HCPBAL
1 38 =5+ 8+HCP
1 3 =5+08+HCP
1 39 =Cuebid TRANSFER GFBAL
1 3 =58-40CGF
1 3nt =5 -40 GF(not passable)

CASEB : Opener's partner does not pass

N E S W

Ix J X 1 ly 1 X = Peralties

Int =8/10 HCPwith Stopin x not necessarily aStop iny
2w = 5+w competitive

2x  =4+w-4+z competitive not strong 5/9 HCP about
2y  =4+w-4+z 10+ HCP

2nt+ = RUBENSOHL ON

e e b b bl
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OVERCALLING IN 22POSITION

Overcalling 1nt is like our opening 1nt and shows 15/17 HCP and “ generally “ little interest in majors , therefore over opener's major
it "tends" to exclude the other major
The continuations are the same as over an opening 1nt

CASE A : Opener's partner passes

N E S W
Ix 1] It J P 1 28+ =SystemON
CASE B : Opener's partner doubles for penalty
N E S W
Ix J It J X 1 2 = See 1nt penalty double
CASE C: Opener's partner bids a suit
N E S W
Ix 1 It J 2x J X =TO
1 7 = RUBENSOHL ON
N E S W
Ix 1 It J 2y 1 X =PD
1 7 = RUBENSOHL ON

REOPENING
N E S W
x 1 P 1 P 1 1Int
PX 1 2y =5+tyS0O

1 2x =Flgenerdly BAL

1 2nt =1V12HCPGI

1 3y =6ydl
N E S W
x 1 P 1 P 1 1Int
2x 1 X =TO

1 2x+ =RUBENSOHL ON

SPECIFIC CASESWHERE WE USE RUBENSOHL AND LEBENSOHL

In general the RULE is: we use L ebensohl when we have shown aweak hand by passing before and we play Rubensohl with

unlimited hands.
CASEA:

N

Ix J X

N E
Ix J X

P 1 X

N

Ix J X

S w
1 2x 1 X
1

?

If opener's partner does not pass over our TO double :
E

=TO

= Asif partner has opened 1nt and they have overcalled
2x . We use RUBENSOHL

= LEBENSOHL

= points, not penalty , ingeneral values inthe 4° suit
= Asif partner has opened 1nt . We use RUBENSOHL
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N E
Ix J X
N E
Ix J X
CASE B:

Incaseof :

N E
Ix ] P
P 1 -

S W
1 v 1 X =m
1 2 = Asif partner has opened 1nt . We use RUBENSOHL
S W
1 3 1 X = Points with at least a 4° major
1 3y =Natura Competitiv
1 4w =Natura GF
1 4y =5+ylamplayingit
S W
1 2x 1 X
= Herewe use LEBENSOHL

Let's see how LEBENSOHL works after an opening and a raise in a major suit. ..

N E S W
© 31 P 1 20 ] X
P 1 22 =Natura wesk lessthan7(8) HCP
1 2nt =(ng1lHCPUUUUUU 7 Pass =to play 12/13 HCP
1 38 =4+8 lessthan7(8) HCP 138 =weak UUUUUUUUUU 7 Pass=tolerance in§
1 3" =4+ lessthan 7(8) HCP 13 =GFwithout 42 U See developments 13 =4+ no§ toler.
1 30 =GF4* nealyaways 130 =4 GF 130 =42 MAX
1 3 =5 g10HCP J3® =5 GF J3* =4 MIN
7] 3nt= Natural
]4§ =6+8 S
14 =6+ 9
N E S W
© 1 P 1 20 ] X
P 1 2nn 71 P 1 3
P 1 3® =570
q1 3 =42 NSTO
1 3t =st©
1 48 =58-4° NSTO
1 4 =5 -48NSTO

NB : Continuations are analagous to 20( weak two ) I X P ?

Lets see how it changes over opening® and raise

N E S W
2 1] P 1 2 1 X
P 1 2t =(7811HCPUUUUUU 7 Pass=toplay
J 38 =4+8 lessthan7(8) HCP 738 =weak UUUUUUU J Pass = Tolerancein §
1 3 =4+ lessthan7(8) HCP 13 =GFwithout 4© 13 =4+ notolerance §
J 30 =440 lessthan 7(8) HCP 730 =50 GF 739 =40 MIN
1 ¥  =GF40 nealy dways 73 =40GF J3* =40 MAX
1 3nt =Naturd 7] 3nt= Natural
7 40 =5+0 Naud 748 =648 S|
J4 =6+ S
N E S W
N | P 1 2 1 X
P 1 2t 7] P 1 3
P 1 3© =40NST?
J 3 =S
7 3t =St
1 48 =55-4° NST®@
7 4 =5 -48 NST2

NB : Continuations are analogous to over 22 ( Wegk two) | X P ] ?
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CASEC:

We use Rubensohl even over adouble of aweak two by the opponents
ES.

N E S W

x 1 X 1 P 1 2 = RUBENSOHL

or

N E S W
x 1 P 1 P 1 X
P 1 - =LEBENSOHL

Bids other than double over opponents' weak two :

N E S W
2x 1 2y =5+yNorma
1 2nt =16/19 HCP short in other major
1 3z =6+zNormd
1 3y =6+y weakerthan2y
J 3x =5+ other mgor-5minor UUUUUUUUU 1 3of amgjor = SO
1 3t =lplayit 1 3nt =GFinminors
1 48 =5+§8-5+" good hand 148 =Passor correct
1 4 =6 -58 verygoodhand 14 =GFHT inother mgor
1 4t =5+ -5+§ GFor68-5 very good hand 14 of amajor =S0

CASED:
We use Rubensohl even when the opponents open with weak 1nt and partner doubles showing a balanced hand :
EX.

N E S w
Int | X 1 2x 1 2y =Comptitive
1 X =PD

In these cases we use Rubensohl , so the suits at the 2 level are competitive to play while 2nt and up are all TRANSFER competetive,
invitational or strong.

CASEE:

We use Rubensohl even when we open 1x and the opponents jump overcall 2y natural
ES.

N S

E W
ix 1 2y 1 2 =RUBENSOHL

CASEF:
N E S W
x 1 mt ] 2x 1 X =TO
?  =RUBENSOHL

CASEG:
N E S W
x 1 Wt ] 2y 1 X =TO

7 ? =RUBENSOHL

THE OPPONENTSOPEN INT

CASE A : Opening strong NT, i.e. 15+ HCP
After astrong INT opening we overcall purely competitively ; could be weaker in balancing seat

double = One -suited , any suit : partner must bid 28 (unless having asuper FITin§ ), and we
passwith § or bid our suit

28  =Two suited 4+§ -4+x

2" =Twosuited 4+  -4+O/2

20 =Two suited 4+O-4+2

22 =Natural , weaker than double then 22

The only forcing responseis 2nt but this shows areally interesting hand! ! In general one responds in Paradox style, which menas
bidding the suit you don't have, in pass/correct fashion

After overcaling 28 :
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E S W

= Tolerance for this suit
= Bid your second suit
= Natural not forcing

= Natural not forcing
= Bid your second suit

N
I ] 28 J P A ot
P 1 3% =weakhand§-x
1 3 =goodhand § -
1 30 =goodhand §-©
1 3# =goodhand§ -2
After overcaling 2 :
N E S W
It 1 22 1 P 1 ont
P 1 38 =badhand” -©
1 3 =badhand” @
1 3© =goodhand™ -©
1 3* =goodhand” -2
After overcaling 20 :
N E S w
It J 20 J P 1 2nt
P 1 38 =badhand5+0-42
1 3 =badhand 5+ -4©
1 3© =goodhand 5+©-42 possibly 5-5
1 3# =goodhand 5+2 -4©
CHANGESIN COMPETITION
N E S W
It J 2x 1 X 1 P
1 XX
1 2
N E S W
It J 2x 1 2y 1 P
1 X
1 2z

= Natural not forcing

CASE B : Weak 1nt opening, whichisMAX 14 HCP (or less :-)
In these cases the chances of game are real so the bidding , above all in second position is constructive

=13+ HCP bal or 16+ HCP unbalanced but not with a one- or two-suited hand with a major
28 =Atleast 50-42 or 5* -4© 11+ HCP, in 42 position perhaps only 4©-42

= Equal length inthe majors
=5+" weak and no FIT for amajor
20/2 = Ignoring the double

= Asksfor better major, but with 5-5 bid the SGL
20 =to play ( continue only with areverse)

=to play ( continue only with areverse)

2nt = Gl, asking strength

= GF with FIT in un major asking for distribution, bid a SGL

n 1 X
1
7 2 =Multi5+©or5+ 11+ HCP
7 20 =4+0-5+minor 11/15 HCP
7 22 =4+ 5+minor 1/15 HCP
1 2t =5+§-5+ 1U15HCP
1 38 =68 1WI5HCP
1 3 =6 1U15HCP
DEVELOPMENTS
N E S W
m 3 2% ] x I P
1 2
1
N E S W
m 3 2% 1 P 1 2
1
1 2
1
N E S W
m 3 2% 31 P 1 2
P 1 2 1 P 1 ot
N E S W
m 1 2 1 P 1 2

= Responses as over Multi ( partner continues only with areverse)




m 1 2 1 P 1 o
38 =MAX with5+0
3 =MAX with 5+

3© =MIN5+©
F =MIN5+
N E S w
Int | 2M 7] P 1 2nt =F1asking to describe your hand
1 38 =passorcorrect
1 3 =6+ SO
1 3M =M
1 30M =6+OM M
N E S w
In 1 2Mm 71 P 1 2t
P 1 38 =4M-5+t§ MIN
1 3 =4M-5+ MIN
1 30 =4M-5+§ MAX
1 3 =4M-5+" MAX

MODIFICATIONSIN COMPETITION

N E S W

It J X2xJ 2y 1A X  =Pemdty
1 2nt =Bidyour unknown suit
1 2z =Natura not forcing
1 3z =Natura not forcing

BALANCING
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Reopening after 1of asuit JPJP] ?

N E S W

X = (8)9+ HCP with atakeout

Int = (11)12/15(16) HCP UUOver aminor cannot be 15/16 HCP
but over a major could be 15/16 HCP

1 suit = (7)8/15 HCP with the suit, maybe 4°

2 suit (not ajump ) = suit, at least 5° quite good (8)9/15HCP

2 suit (jump) = good 6° suit with 11/15 HCP

2nt =19-21

3 suit (jump) = good 6° suit with opening strength , looks for 3nt

3 suit ( double-jump) = good preempt with 7° suit and 9/11 HCP

cue = constructive Michaels

cue (jump ) = solid one-suiter, asking for stop for 3nt

3nt = solid suit, Stop in their suit

x 1 P 1 P

] e e e e e o el ]

N E S W
In J P 1 P 1 -

Use same system as over opening 1nt in 2% position

OVERCALLING ILLOGICAL INT

Overcalling illogical 1nt always shows at least 9 cards in the 2 other suits with at least (7)8+ HCP

w

N E S
x 1 P 1 1y 1 X = Shows4-4 in the other suits ( not guaranteeing opening strength !!!') or

astrong hand 16+ HCP
1 1Int =Shows5-4or 55 intheother two suits
1 2y =Showsatleast6-5or defensive 5-5 with good sits
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N E S W
1x P 1 ly 1 X/int
P 2x = Askswhichsuit islonger . Bid with weak hands or strong hands | ooking for afit

2y =Pointswithasure FIT inat least one suit promised by partner

2nt  =Pointswith aFT at least 4° in one of partner's suits, but probably a double- FIT

3x  =Mixedraise, which is not too strong but with FIT at least 4° in one of partner's suits
2zlw = SO

] ] b b b bl

How does overcaller bid now ?

Over acue of the lower suit obviously bid your longer suit.

But over the cue of the higher sit bid UU J2nt=55
1 3z(lower suit) =MIN
1 3w(higher suit) =MAX

Over 2nt one bids WUUUU 13y =5-5and SGL inthe suit

T 3z(lower suit) =MIN UUU 7 3nt = Asksfor longer suit
o J3w =50
1 3w(higher suit) =M AX UUU 1 3nt = Asksfor longer suit

GHESTEM

GHESTEM isatwo-suited overcall made over aNATURAL opening of one of asuit. The style in which we bid this depends on the
position, vulnerability, and whether partner has passed or not !

Opposite passed partner and white vsred the bid is generally defensive/obstructive, while vulnerable against not vulnerable it is
generally constructive with good suits and 5 losers or less.

Remember that you never promise the suit you bid.

N E S W
18 ] 2 =5+0-5+

7 2t =5+0-5+

J 38 =545+
N E S W
17 ] 2 =5+ 54§

J 2t =5+0-5+8

7 38 =5+-510
N E S W
10 ] 20 =5+ -5:§

J 2t =5+§-5+

J 38 =545+
N E S W
12 ] 22 =5+0-5+§

7 2t =5+§-5+

J 38 =5+05+
RULES:

1) Returning to trump is always the weakest bid

2) Jumpsinasuit shown by partner are always preemptive

3) To show Gl+ hands one uses the available space, so if one bids the lower suit one shows aFIT in the lower available suit at the 3-
level. Thisisaboveall for the minor sits.

4) 3ntisaways natural




W

2v/4 =30

2nt = RELAY

3% =vfit, G+
3¢ = &afit, GI+
3v/a=M

3nt = to-play

N
=

e
N
Tw

DRURY
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DRURY is played when partner opens a Major inthird hand, which can be a light opening (9+) and a4card suit. The responses of
two clubs and two diamonds both are invites with three and four trumps respectively.

N E S w

P 1 P 1 ™M 3 P

24 =9/11,3M

2¢  =9/11,4M

2M  =3/8,3/4M

N E S W

P 1 P 1 ™M 3 P

2 ] P 1 2¢ =12+,5M, Anwhat suit do you accept help-suit game try?

2M  =9/11, 4/5M, SO
20M = short suit gametry
2NT =5-3-3-2BAL gametry

3#/¢ = short suit gametry
3M = bid gamewith good trumps
aM  =to-play

N E S w

P 1 P 1 1 1 P

2 1 P 1 2v =911 45,0
24 =12+, 5v, Anwhat suit do you accept help-suit game try?
2NT = short suit gametry in 4
3#/¢ = short suit gametry
3v  =gametry intrumps
4v  =to-play

N W

E S
P 1 P 1 1. 73 P

P 1 2y =shortsuit gametry

24 =911, 4/54, SO

2NT =12+, 54, Anwhat suit do you accept help-suit gametry?

3#/¢ = short suit gametry

34 =trump suit game try

4s  =to-play

Other bidding changes by a passed hand (this also applies after 4" seat opening):
jumps are fit jumps, e.g.

N E S
P 1 p 1 18 731 P
20 =8/11HCP, 50-48, NF

E S W
P 1 10© 71 P
22 =8/11HCP, 5* -40, NF
38 =8/11HCP, 58 -40, NF

T2
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LEADSAND SIGNALS

Leads: 2™ and 4™ best

A AK(+)

K KQ(), AK

Q Q)

J J10(), HI10()

10 H109, H10x, 10x, 109

9 109+

Hi-x XSX(+), HSX, 10Sxx(+)

Lo-x | xS, HxxS(+)

Lead K from AK when:

- partner hashid or raised the suit

- athe5or6level (partner must show count)
- FROM TRICK 20N

- from AK doubleton

Signals: UDCA
Obvious shift principle
In trump: suit preference



